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1 Consider the following statements regarding FASTER:
1. It was launched in 2021 by the Supreme Court.
2. It was created for transmussion of e-authenticated copies of the Judgementsfﬁnal or ers/interim
orders to the concerned court/tribunals for due compliance. #
3. It aimed at cutting the delay in transmission of the orders passed by the court and consegnent delay
in the release of the undertrial persons, accused person and convicts.
4. It stands for Fast and Safe Transmission of Electronic Records.
Which of the options given above is/are incorrect ?
(A) 1and?2only (B) 2 and 3 only
(C) 3and4only (D) | and 4 only
(E) Question not attempted
Frefefiga Fumt 9T FASTER @ ufoiea § R &¢:
1. ¥ Uaied e 5 2021 § |t frar

2 ma%ﬁﬁﬁwmmmé‘si’mﬁﬁfaﬁqmﬁsﬁfaaﬁqerﬁaﬁﬁ[é**mﬁmuﬁmwwﬁm

aﬁﬁﬁaﬁﬁmﬁﬁﬁaﬁﬁé‘&ﬂaﬁ/mmﬁﬁeﬁ
T B UT U e mgﬁwﬁmﬁmﬁ%ﬁmﬁgm%
Etr{'%‘lﬁaﬂﬁlﬁq‘lﬁ@raﬁ? g i as @i ¥ 7
(A) haw 1afe2
(C) haw 3 &fit 4

(B) Srara ued

2 Consider the following statements:
1. Loan Guarantee Scheme for Cov1d affectﬁd sectors {(LGSCAS) with a Corpus of Rs, 2,000 crore

2. The scheme provides credit guarantee of 50 percent to all greenfield projects and 75 percent to all
brownfield projects to be set-up.at th&:Centres other than metropolitan cities.
3. For aspirational districts, the guarantee cover will be 50 percent for both brownfield expansion &
ereenfield projects.
4. For aspirational distrigts’ the
greenfield projects. £
Which of the statements glven
(A) 1and?2only
(C) 3and4 only
(E) Question not a

:fare correct?
(B) 2and 3 only
(D) 1 and4 only

YOVE I

gimﬁaﬁzﬁaﬁﬁﬁaﬁﬂ@rmaﬁ%?
4) ,.Ahae 1 8t 2 (B) ¥aa 2 oiT 3
(C) e 3 6lT 4 (D) *Hae 1 3T 4

(E) Sraraued

1421 0 2 P.T.O.



3 Agnipath scheme 1s a recruitment scheme for youth to serve in the armed forces. Which of the following
holds true for “Agniveers”, the vouth selected under the scheme ?

1. Agniveers will be given an attractive customized monthly package alongwnh *i:fé'k . hardship
allowances as applicable in the three services. #

2. On completion of their engagement period of five years, they will be paid one time non coyitrlbutorv
Seva Nidhi Package. N

3. Seva Nidhi Package 1s exempt from income tax. %

4. Agniveers will be provided non contributory Life Insurance Cover of Rs 4 lakh 7 their duration

of their engagement period in the Indian Armed Forces.
Which of the statements given above is/are correct?
(A) 1and?2 only (B) 2and 3 only
(C) 1and3 only (D) 3 and4 only
(E) Question not attempted

mﬁmaﬁwasﬁwﬁﬁﬁm%%%ﬁmaﬂgaﬁ%ﬁm@ﬁa’wﬂ%l
“Hftdr % o frefefga f A s A s g B ¢
I rfd & e il & @ S o s’ ﬂﬁ%m&wmmﬁmﬁﬁmﬁmml

Ui a9 @ AT IOT IH X, a%@gaahm@lmﬁﬁlﬁ%mwwﬁwawm

T Tafty S st | qE

ﬂﬁmﬂﬁﬂﬂﬁﬂﬁﬂﬁaﬁﬁﬁﬁ?ﬁﬁgﬁﬁﬂﬁ%ﬁﬁﬁﬁmﬁ 24 A FH - ET S am

HaT femm

IO He A A DAY B TR E 7

(A) haw 13?2

(C) haw 13ft3

(E) ogai@ uss

4 Electronic Voting Machine (EVMs) and Vo
Election Commission of India to conduct;
consider the following statements : : .

1. EVMs were first used on pilst-hasis ff:Thrlssur Assembly Constituency of Kerala.
2. EVMs are manufactured by Eleétronics Corporation of India Limited and Bharat Electronics
Limited. E
3. VVPATSs were used firstin bv-‘ét&t‘:tlons for Khonsa Assembly Constituency of Arunachal Pradesh.
4. VVPAT is an additional unit attached to the EVM, which prints a slip of paper that carries only the
serial number and_symbol ofithe candidate voted.
Which of the statements given above 1s/are not true?
(A) 1and?2 only (B) 3and4 only
(C)y 1,3and4 onlv (D) 1,2and4 only
(E) Questlon not aftempted
AT AT S ZR S ofit faurre & % gamal § et aifen Asi| (EVMs) oY dree
b TR e ¢ (VVPAT) @1 S9ai i s & | frefafaa semi w formm ot
I FEAH W%ﬂﬁﬂ%ﬁﬁmwwmwwmaﬂmﬁﬂﬁmwml

2. E¥Ms® NG ST [aes oY geazi=ee HITaeA 8% 3 fires ara fe

;;;;;

3 ,'5’#@@9%31%@@%%%41 & % IY—gATal A Tell AR VVPAT 1wt fpan am om
WPXT@&%&WW%E&EVM%W@@@%%% foraw Tk e fpT T g @ B9
w9 g faes e s ¥

mfa@wmaﬂ‘rﬁ@raﬁﬂ—@rmmaﬁﬁ%?

g?(A) amalaﬂu (B) %aw 3 IMT4

W) daw 1,3 84 (D) o 1,2 30T 4

(E)  orgare 9§

L

wooour

W

T & ST TR TagaE

oW

- Verifial e Paper Audit Trail (VVPAT) are being used by the
ec__ti‘ ns to the Parliamentary & Assembly Constituencies. Now
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Consider the following statements:
l. Statistics day is celebrated everv vear on 20th g uly.
2. National Statistical Commission was set up in 2004

3. The base vear of Consumer Price Index (Rural) is same as that of Consumer Prlce Indc;:)i (Urban)
1e. 2012 =100, %
Which of the above statements 1s/are false?
(A) 1and?2only (B) 2 and 3 only
(C) 2 only (D) 3 only
(E) Question not attempted
Frafatea Haei 92 . S

. B o 29 T Bl WiResl fead A s £
2. U Hifeasmrd AT Bl T 2004 § @ TS i) >
3. reior it 3 R ST T et B o ad o del A% Tae A 2012 = 100 ¥)
T B W A B G o e B 7
(A) aw 18fiR2
(C) Haw 2

(B) Srara ued

Match the following schemes/portal of the Govemment of’ Haryana :
(i) Meri Fasal, Mera Bvora Portal @ To free farmers from the

risk of weather uncertainties

Canals

{¢c) To prevent arbitrariness of seed sellers,

{d) Allow farmers to sell their crops and
provide financial assistance for
fertilizers, seeds, loans and agricultural
equipment from their homes.

[farew ®1 e Bt ¢

(a) HYEH B AT & A
et R T

(b) T

(c) ot fgparatt & FAET U & o

(d) feramat @ o T | AU FEAl B A

& fT ofiT 3T, 99, 01 O H IUHT

(i) Uttam Seed Portal
(uni) Mukhyamantrn Bagwan BlmaYO}n
(iv) Real Time Data Acquisitio "Sy'sten:_tzz__

& T i T Y_E ®E
Choos the gorrect option from the following options given below -
Attt ferdt ¥ @ WY fere i
{A) ﬁ) -(a), (i)~(b), (ii)-(c), (iv)«(d) (B)  (1)-(b), (i)-(c), (11)-(d), (iv)-(a)
(©) ()0, (i), (i), (iv)-(b) (D) (D)-(d), ()~(c), (m)-(a), (1v)-(b)

(E) Question not attempted / Gl':!,?lﬁ_cr s

1421_0 4



7 Match the following schemes/yojnas of Government of Haryana :

(i)  Khet Khali Phir Bhi Khushali (a) To make livestock owners risk f;pc

(1)  Mera Pani Meri Virasat {b) To make farmers free from I‘lS]ﬂ at tbe*
time of a fall in the prices of fruits,
vegetables g,

(i) Bhavantar Bharpai Yojna (c) To encourage farmers to dlverslfv from
paddy to alternative lg;sg_yater ,mtenswe
crop

(iv) Pandit Deendayal Upadhayay (d) Farmers get benefit eV&uw;ﬁ he land

Pashudhan Suraksha Yojna where paddy 1 igy é’i:a"bm 1s kept fallow.
FhAm TR B Frafaia /e B e i

(i) Ol 5T o gl () wgpTieTeRt 4 i weq

(i) O A A R (b) afeTal, wiier Himal § frrae &
et s 2 g e

(i) VAT TTUR T

(iv) 'fEa dFTAE SUrET ugEe

L&A AT .

Choose the correct option from the following optloms

Freforfiaar fereait ¥ & Tt free o
(A)  ()~(a), ()-(b), (iiD)~(c), (v)-(d)
(C) (), (ii)-(c). (iii)-(b), (iv)-(a)
(E)  Question not attempted / ST %

- (D-(b), (iD)-(c), (iii)-(d), (v)-(a)
 AD-(d), (m)~(a), (iii)}-(b), (iv)-(c)

8 Mukhyamantri Muft Ilaj Yojna, in
1. Surgeries, laboratory tests.
2 OPD/IPD, Medicines, Refera;l srafisport, dental treatment only.
3. OPD/IPD, dlagl‘lOStICES laboratory tests, surgeries only.
4 Dental treatment, Refersal transport Medicines, OPD/IPD, Surgeries, Laboratory tests, Diagnostics
(X-Ray, ECG, u
Which of the above statétients*is/are correct?
(A) 1 only
(C) 3only £
(E)  Question not a’fﬁc,mg;éd
sreamn g@qﬁ%ﬁgqawa’lﬁmﬁ Frafafga Tarr aiafa ¥
1 %ﬁauﬁ'&ﬁaﬁtﬁéﬁ TrHIRead (X-Ray, T4, S2@E=)

_égs-cuqOPDfIPD TaTgal, THT TEde, 39 afwn

a,gno&tlc (X-Ray, ECQ ultrasound) only

(B) 2 only
(D) 4 only




10

11

National Institute of Fashion Technology (NIFT) is associated with which of the following?

1. Project India Size 2. VISION XT

3. COEK 4. CHAMPIONS Portal
Which of the options given above are correct? Lo
(A) 1and?2only (B) 2 and 3 only () 1,Zand3only (D) 2,3and4only

(E) Question not attempted

A9 s o heF TAtast (NIFT) Fretfafea & & frad gafa ¥ ?

l. vieEe ghear 9w 2. FemXT
3. COEK 4. CHAMPIONS dies,
SR R e A a s a el ¥?

-----

(A) haw 1afe2 (B) Waw 2 33 (C) %b—cml,zaﬁ-{;sﬂ*”ww) %a—cﬁrz 33t 4

(B) Srara ued

Pradhan Mantn Jan Aushadhi Yojna (PMJAY) has been renamed as,

;;;;;;;;

l. Pradhan Mantri Aushadhi Pariyojna 2. Pradhan Maﬁfi‘i'?anaushadhl Vikas Yojna

gy

3. Pradhan Mantri Bhartiva Janaushadhi Parivojana.

4. Pradhan Mantri Bhartiya Aushadhi Vikas Yojna.
Which of the options given above is correct?
(A) 1only (B) 2 only=
(C) 3only (D) 4 only
(E) Question not attempted
T |1 1 Sy Qo (PMJAY) &1 71 8 % ¢

Iy wst i it

3. QU W IR A 9
SqUEd @ fapeai § @ 9 W fawa wE & 7
(A) Had 1 (B) haw 2

(B) Srara ued

Which of the following is/are not true regardi

-;.as*-*

I.  Each subscriber shall receiyeii
age of 55 years.

2. Each subscriber shall r
age of 60 vears.

3. During the receipt of pensiori if the subscriber dies, the dependent members of the beneficiary

shall be entitled tq receiye 5¢ percent of the pension received by beneﬁmarv as family pension.
4. The subscriber’ss

Which of the optiong“&iven ab' e is/are not correct?
(A) 12and30nl§ (B} 2,3 and 4 only (C) 1,3 and4 onlv (D} 1and3 only
(E)  Question not atigmptéd
SETIEA I, Jgrereen ghfyaa a0 % Y 9am 9= smEeh Ae-am Qe $ gy o
Pt % & A 7 T o7t 7
| vE% SRS B 55 a9 B ong T 2R & 915 <Fae 2,000 T, Wi A ghtes dam fem
2. _gaaﬁmmmaﬁmaéa%mgtg&éﬁ%aﬁwqwms ftr wre ghafyaa Yem e
g, TR BT ATAN HEEIATHTS BT AT (e B ST & 1 el & s aaeal o, el f fre
& Y4 w7 50 wiaer i Ye & = ¥ frem)
AT ZT0 AEE B T A SR SO G St SHEE g ¥ Wa: Wi -Teean e g o s
m@;ﬁ S AT 6 TS YT o T ST F SR I 50 B9 ¥ 200 FIA YREE 6 o
|

%Wﬁmfrﬁaﬁﬁmﬁwaﬁ?@r%?

(A) ®aw 1,283 (B) ®waw 2,334 (C) &ad |, 334 (D) &Haw 1 30T3
(E) ogaia@ uss

1421 0 6 P.T.O.



12

13

Consider the following statements regarding the MusQan initiative:
1. To reduce preventable mortality and morbidity of children below 12 vears of age.
2 All pregnant women and sick infants upto 1 vear of age attending public hegith:, facﬂltles are
entitled to free services, drugs and consumables as well as diagnostics services;
3. To provide child- friendly services to the new born and children in a humane & su?pportlve
4

env1ronment """ ,
It is an intensified programme to bring undiluted focus on promotion of bieast eedlng and other
infant & young child feeding practices.
Which of the options given above is/are correct? i,
(A) 1and?2 only (B) 2and 3 only (C) 1 and 3 only ('19) '?yand 4 only

(E) Questlon not attempted .
EhT TEA o ﬁrﬁri%ﬁgﬁ AR &Y

1. 1zaﬁﬁmw%aahaﬁﬂﬁaﬁﬁaﬁaﬂ1ﬁﬁwmaﬁﬁmml

2. Hﬁaﬁmﬁmgﬁmaﬁﬁmﬂﬂﬁa%ﬁm%waﬁahwaéw%%ﬁwﬁmaﬁ%ﬁﬁﬁw
ﬁfmz TATG eIl IUHDT T, FETh Yarg Suersd A1

3. AR ST WEEE araEer ¥ Tawd g offT ==l @B T 'ﬁamuaﬁml

4. wmﬁmma‘éwﬁsﬁ?aﬁﬁéﬁ*ﬁmwﬁrw%waﬁwﬁﬁwmwﬁ%ﬁaﬁmaﬂ'{
AU B T T
FuR Faseal & ¥ @i T R @i ¥ ?
(A) hae 182 (B) hae 2 8T 3 (C) e 183 (D) Haw 3 &l 4
(E) Hai us

Match the following:
(1) Sowa-Rigpa Fu51on of traditional knowledge of

¢ angient civilization like Egvpt, Arabia,

-India, Iran, China & Syria.

“Health 1s a pre-requisite for achieving

the goals of hife 1.e. Dharma, Artha,

Kama and Moksha.

System 15 evolved based on 96 tools or

principles(Thathuvas) which include phvsical,

physiologic, psychological and intellectual

aspects of every human being.

The basic theory is explained in terms of the

body & the mind as the locus of treatment;

anti dote; method of treatment through antidote;

medicines that cure the disease;, pharmacology.

(1)-(b), (in-(c), (iin)-(d), (iv)-(a)
(D) ()-(d). (u)-(c), (m)-(a), ()~(b)

(i) Siddha

(iii) Unani

(1v) Ayurveda

(A)
(C)

() Trg, ar@, arE, 3TA, 9 ST Wit S
YT FAT 6 TOUTA SAF R EREOT
(b) Sa" & weal o & 9, o, B9 o We
F UTT H F T Y5q TEA =LA B
(c) YA F 96 UGS A1 FaEl I st

yoTel ST et T o oM, SR,

HAERIE S Ahgew geq |t |
(d) srﬁ'wﬂ'{ﬁqmwé‘s%ﬁﬁg%qﬁmz

S TAT; U2IS(E % AU TAST i T,

T 1 e & A i siwfat qan
ﬁﬁﬁﬂfbﬁ ferepeat & & it faepea A
(&y=(i)-a), (iD)-(b), (ii}-(c), (iv)-(d) (B)  (1)-(b), (1)~(c), (11)-(d), (iv)-(a)
(C)  ()-(c), (i)-(d), (iii)-(a), (iv)-(b) (D) (D)-(d), ()~(c), (m)-(a), (1v)-(b)
(E) Srpara ued

1421 0 7 P.T.O.



14  Match the following;

(i) SARTHAQ (a)
(i) DIKSHA (b)
(i) PRABANDH ()

Advancement through quﬁllty educailon
(iv) TALKING BOOKS (d) e-learmng expanded throvgh d.jgl]:ﬂ1

;;;;;

Choose the correct option :

(A)  (1)~a), (i)-(b), (11)~(c), (iv)-(d) (B) ()b}, (u)-(c), (1i)- (JL I,l}’)v(a)
(C) (o), (1)-(d), (iii)~(b), (iv)-(a) (D) (i)-(d), (i)~(a), LLiTe(b), (1v)-(c)
(E) Question not attempted % ’5; 5
Fratafa 1 fram i |
1 ww (a) 1 ferefl TR Aear o ot sl
(ii) <rem (b) gfeET lfr’érmﬁ foTe SumTed S T
¥t Hrem ot
(i) g (c) Toraemyol f3ten % weam & franfiE i
farel i G

(iv) =i g (d) L St & ford Sifrest anare@

T fawey gre:

(A)  ()-(a), (ii)-(b), (1)), (iv)-(d)
(C)  ()-(e), (iD)-(d), (iii)-(b), (iv)-(a)
(B) Srara ued

PM SHRI Schools have the following features

15

(A) 1,2and3only
(C)y 1,3 and 4 only.~
(E) Questlon not attempted

ﬁ@%&@ﬁﬁﬁﬁ%ﬁﬁlﬁm%
%Wﬁﬁqﬁﬁﬁuﬁw%mmwﬁuﬁw%%mﬂmaﬁsﬁﬁmﬁ%ﬁﬁ 15000

.....

-af%qmﬁm
3. /" Tt s AT & WA e e ¥ & W 1 Ao we e o wgpell e i s
BRI TRy T e SR sr&sl TR A hTE/ HalOH/ T I T < &l § 9

(B) 2,3 and4 only
(D) 1,2and4 only

;‘%@) :halzaﬂw (B) % 2,3 a4
(C§” e 1, 3 3l 4 (D) &ad |, 234
(B) orarausd

1421 0 8 P.T.O.



16  Match the following;
(i) Yukti-Yogya Kalakriti ki Takneek (a)
(1) SAKSHAM (b)
(iii) Ishan Udayv {(c)
(iv) Pragati (d)
Choose the correct option :
(A)  ()a). Gi)b), (i), (1v)(d) (B)
(€) (W), (i)-(d), (i1)-(b), (iv)-(a) (D)
(E) Question not attempted
Fratafa 1 fram i
()  FT-ATT FATHA B AHAIR
() wTH by
(iii) 39 Iz
(iv) i
TE fageg g
(A)  (W)~a), (i)-(b), (ii1)-(c), (iv)-(d) :
(C)  ()-(c), (1)-(d). (iii)-(b), (iv)-(2) (D)
(E) Srana ued
17 Match List I with List II and chevose the correct option :
List I -
I. Bagar a.
2. Bet b
3. Nal C.
4 Khadar d.
5.  Bangar e.
(A) l-a, 2-b, 3-¢, 4-¢, 5-d 7 (B)
€) 1-a, 2- b, 3-c 4 (:1 oHel (D)
(E)
qﬁ’rlqa g Ilzﬁrfﬁﬁﬁaﬁwaﬁﬁmwwaﬁ
a.
b.
C.
s d.
., €.
S .IW“?:;. , (B)
(C)  1-a, 2-b, 3-c, 4, 5-¢ (D)

AT Ue

1421 0 9

(E)

enhancing the economic p‘rosp@cts ‘of
those engaged in trad;tm%l craii?s and arts

as a means of livelilipod. ™,

Scholarship scheme o, ':rentlv abled person.

----------

Special scholar,s‘hfﬁ scheme for students
of north-east reglon:

(D)-(b), (11;)‘-(0}« (ul)-(d) (1v)-(a)
()-(d), (11)-{&) (1115) -(b), (iv)-(c)

asm?n L aa-@r %@ AICTE &1 Tisr

¥ TTITAT el BIOTY |

-g%aﬁﬁaam&fmmaﬁgmﬁ%g
%ﬁﬁ-—reﬂ'{aar—ﬁaﬁa?r@mmaﬁaﬁ

) e & 3 BT % T RE BEgRT A

(1)-(b), (in)-(c), (iin)~(d), (iv)-(a)
(D)-(d). (m)~(a), (iii)}(b), (iv)-(c)

List 11

Parts of Hisar, Bhiwani and Sirsa
Flood plains of Markanda

Flood plains of Ghaggar

Flood plains of Yamuna

Old alluvial plains

I-b, 2-a, 3-¢, 4-d, 5-¢

1-b, 2, 3, 4-a, 3¢

| a1

Ty, Paarh oo Rroan % v
WHUS| & 916 b AT

X % 910G % 43M

TG & A6 & Ao

R BT HEA

1-b, 2-a, 3¢, 4d, 3=

1-b, 2, 3, 4-a, 3¢

P.T.O.



18  Match List I with List II and choose the correct option :
List I List I1

a. Gujri mahal 1. Kurukshetra

b.  Seikh Chilli’s tomb 2. Mahendragarh

¢. Choron ki Baoli 3. Hisar

d. Jal Mahal 4. Rohtak
(A) a-1,b-2,¢-3,d4 (B) a-2,b-3,¢c4,d-1 4
(C) a-3,b-1, ¢4, d-2 (D) a-4.b-1,¢-2,d-3

(E) Question not attempted
T 1 gl 19 fram #¢ 3o 981 faae @ o373 ¢
T
Tl &
9@ fat &1 gmaa
T B AT
T HEA
(A) a-1,b-2,¢3 d4
(C) a-3,b-1,c-4,d2 D)

(B) Srara ued

19  Given below are the administrative D1v151on of Ha ;
Administrative division

6 o
el

&

a-2, b3, c4, d-1
- a-4, b-1,¢-2,d-3

fia along with the districts it includes
Districts included

a. Hisar ':_1s_z_gr, Fatehabad, Jind, Bhiwani, Sirsa

b. Rohtak hiajiar, Sonipat, Bhiwani, Charkhi Dadri, Rohtak
¢. Kamal anipat, Karnal, Kurukshetra, Kaithal

d. Ambala Ambala, Kurukshetra, Panchkula, Yamunanagar

Which of the above Admmlstr'
(A) aandb only
(C) canddonly
(E) Question not attempted 3
aﬁmw%usmﬁmmwwmﬁﬁ%ﬁﬁﬁ%

. TR s
TR, FHEA, P&, FUA

ST, FEAF, TP, AT

ve D %:’smns are correctly matched?
(B) bandc only
(D) banddonly

Wﬁlﬁﬁ'ﬂ%ﬁ%ﬁﬂﬁﬁiﬁ@é‘rmﬁﬁﬁﬂﬁ%?

gf‘(A) B a AT b (B) % bt c
Q) A ¢ ol d (D) %aw b ot d
(E) AT v

1421 0 10 P.T.O.



20 Read the following statements about Yadavindra Garden Pinjore, Panchkula and choose the correct options:
1. It was built by Nawab Fidai Khan in the 13 century.

2. The garden is an example of Mughal garden style .

3. It was renovated by the rulers of princely state of Patiala.
(A) Only1land2 {B) Only2and3
(C) Onlv1and3 (D) Only2

(E)  Question not attempted .
s M R, W%Hﬁﬁﬁﬁmaﬂ‘raﬁqﬁﬁﬁﬁmmwa
1 15 9 & T T ped @M S S A ; ”
> %WWW%W@W%I

3.
(A) hae | ST 2
(C) waw | AT 3

(E) ogai@ uss

21
(a) Kaithal
(b) Panchkula
(¢) Bhiwani

(d) Hisar

l-c,2-d, 3-a,4b (D) 1-d, 2-a, 3-b, 4-c

(a) Huw

(b) TG
(c) Taamy

(d) fEaw

(A) -a,zb 3-c.4-d (B) 1b,2-c,3-d,4a (C) Il- 2-d,3-a.4b (D) 1-d, 2-a, 3-b, 4-¢
(B) ofaitd ued

1421 0 11 P.T.O.



22 Match column I and column IT & choose the correct option in context of Haryana:

Column I Column 11
1. Khora (a) tournst complex
2. Manjira (b) sweet dish
3. Surkhab (¢) dance form
4. Churma (d) musical instrament

Choose the correct option : )
(A) l-a,2-b,3-c.,4-d (B) l-¢, 2-d 3-a,4-b (C) 1-b, 2-c, 3-d, 4»5 ;;;;;; U) ) l-d, 2-a, 3-b, 4-¢
(E)  Question not attempted i

i
i

TS B o

i fo 1 g
(A) l-a,2-b,3<c,4d (B) Il-, 2, 3-a,%

(E) ogai@ uss

I-b, 2-c,3-d,4-a (D) 1-d,2-a, 3-b, 4

23
1 Jind
2. Rohtak
3 Rewari
4. Hisar

Which of the above is/. ':e Gotre ﬁ\ matched :
(A) Only I, 2 and (B ) “Only2,3and4  (C) Only2andd (D) Onlyland3
(E) Question not am;:mp;ed

ﬂ%ﬁ@ﬁﬁﬁﬁ@ﬁ@%ﬁﬁaﬁ@mﬁaﬁ@j%

. 4
oy A

: Awar, Fym, wriva, FER
T, v, @R, e, taE
7z TG, UM, TR, TS

: Ty, Teas, R, waeEe

Wﬁaﬁaﬁqﬁﬁﬁﬁuﬁ%?
(K“y %malzaﬂn (B) Haw2,33T4 (C) Haw24fit4 (D) Haw 13T 3
(E) Sraraued

1421 0 12 P.T.O.
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Which of the following statements with reference to uniform linear motion and uniform circular motion is/
are TRUE?

I.  Inauniform linear motion, a body moves in the same direction with a constant spéed bm 4p uniform
circular motion, the speed of the bodv remains constant and the direction of the 1110t101,1, changes
continuously,

2. Ina uniform linear motion, there is instantaneous change in velocity but in umforfn c@cular motion,
the velocity remains the same. 5 74

3. A uniform linear motion is an accelerated motion but a uniform circulatmotiof 's not an accelerated

motion.
Choose the correct answer from the options given below:
(A) 2and3 only (B) 3 only

(C) 1only (D) 1and 3 only
(E)  Question not attempted K g N
trEa e i ot wewwm g afa & wed § frefafed @ A F9 wyd FuT W@
¥R

1 qa;aqﬁ%ﬁa'cﬁnﬁrfr@%ﬁﬂ?m%ma@aﬁsnﬁw%ﬁﬁmwﬁunﬁﬁﬁgaﬁ

2.

3. mmwmﬂﬁwaﬁﬁnﬁ%ﬁﬁﬁmqﬁuﬂﬁaﬁﬁnﬁrﬁ%l
T fow o et A | w9 s g
(A) hae 2 8T 3
(C) Few | ) am | 8T 3

(E) ogai@ uss

Which of the following statement(s):about ‘the freely falling objects is/are FALSE?
1. Freely falling objects are the ob'ects falling from a height towards the earth under gravitational
force of the earth.
2. The acceleration of a kody fallmg freely towards the earth depends on the mass of the body.
3. If an object 1s dropped f‘reelv from a helght its initial velocity “u” is zero and if an object is thrown
vertically upwardé: ts final velocity ‘v’ becomes zero.
Choose the correct ansyver fr the options given below:
(A) 1and3 only i (B) 2 only
(C) 3onlv - # (D) 2and 3 only
(E) Questlon fot attémﬁ’ted

I ’-’-5;,

;;;;;;

1 wﬁwﬁﬁﬂ%aﬁﬁ@q&ﬁ%wﬁwaﬁ%mmﬁq&ﬁaﬁmﬁnﬁaﬁﬁm@qh
z mmﬁq&ﬁaﬁmﬁnﬁaﬁﬁgmmﬁg%wmﬁﬁtm%

;%ﬁﬁqm%mﬁﬁaﬁwgﬁﬂ

(&) a1 83 (B) % 2
(@) 3 (D) Faw 2 T3

(E) ogaia@ uss

1421 0 13 P.T.O.



26

27

28

Given below are two statements: one 1s labeled as Assertion A and the other is labeled as Reason R.
Assertion A: When an artificial satellite moves around the earth in a circular orbit with a constant speed, its
l -

Reason R: The force of gravity of earth keeps the satellite in circular orbit around it.
In the light of the above statements, choose the correct answer from the options glven below: 7
(A) Both A and R are true and R is the correct explanation of A #
(B) Both A and R are true but R is not the correct explanation of A
(0] A 15 true but R is false

(D) A s false but R is true

(E) Question not attempted y
e 3t o R e ¥ ;U B At A SfiT gER B Fw REI-TrHTFIﬁ'CIT‘FlI%I

ATUEFYT A: 59 BIS HIAT SUTE Jo= & A S JAA Bl o ﬁuanﬁr@rﬂaﬂﬂ‘m%a‘rmﬁnﬁaﬁ'@r
B AP ITE BN Y B fsn wmER 7w @) #

FAN R: Y 1 TorAHE a9 IUTE H AT =1 AR A Bl § Fegy)
mﬁﬁmuﬁaﬁmﬁﬁwﬁgﬁﬁqwﬁmﬁﬁaﬁwaﬁwﬁﬁm
(A) A ST RIA = ¥ 3T R, A 9 T8I =men & ,

(B) A X RTAI o & 9fhT R, A %l T2 AT T &
(C) ATt afeT Ramad
D) AsEA AT REATS

(E) ogai@ uss

Which of the following statement(s) about the artifi¢ial sweeteriing agents is/are TRUE?
1. Ortho-sulphobenzimide is the first popularartificiak:sweetening agent.
2. Ortho-sulphobenzimide is also called as gacchart
3. Ortho-sulphobenzimide is about 100 tlmes as sweet as cane sugar.

(A) 1 only (B) 2and3 only
(E) Question not attempted
'g‘?%l‘qu%ﬁ'ﬁ-_ﬂlﬁ frreferfiaa & @ra%h-- INEREGERIY

1.

2. A Hm%ﬁmaﬁﬁwﬁﬂaﬂmm%l
3. ofti-wwrfAES, T 2T L EATET 100 7T WreT € )

(A) &aw |
(B) rara e

Which of the following Stitements about the types of soaps is/are TRUE?
I.  Transparent sGaps ar&:imade by dissolving the soap in ¢thanol and then evaporating the excess
solvent. £ '
2. Shaving soap§ contaln fillers like sodium rosinate, sodium silicate, borax and sodium carbonate.
3. Soap cl;gtps are fiidtle by running a thin sheet of melted soap onto a cool cvlinder and scraping off the
soaps: An “small broken pieces.
Choose the gorrect éihsééver from the options given below:
(A) land2only # (B) 2only (C) 1and3 only (D) 2and3 only

oy

(E) Que§t1§m not attempted

A H:4 *$mﬁﬁﬁwﬁ1ﬁaﬁﬁﬁﬁﬂm@mw%ﬂ%?

L T H HHT 3T e srfafa fammaes i aifrd e wreEst JIga a g A E |
gﬁﬂ%wﬁxﬂ%mﬁﬁﬁzﬁﬁmﬁ%ﬁnﬁmﬁﬁﬁmmﬁzéﬁw— T E
T % fre el g0 Wige 3 U Tael 9 Bt 3 faeist ot S ot Wig B Be-u g ¥
GTd HT T A E )

() 1and 3 only (D) 1and 2 only

43 ot s e 4 8 0 e g

(A) hae 1afe2 (B) a2 (C)  ae 1 33 (D) haw 2 &fT3
(E) ogaia@ uss

1421 0 14 P.T.O.
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Match List I with List II.

LISTI LISTII
(Chemical Compounds) (Usage)
A. Norethindrone [.  Cationic detergent
B. Alitame II. Antifertility drug
C. Cetyltrimethvlammonium Bromide II1. Artificial Sweetener
D. Phenelzine IV. Anti-depressant dmg
(A) AL B-II, C-IV, D-I (B) A-II, B-III, C-1, D- IV%
(Cy A-1 B-1V, C-I, D-III (D) A-IV, B-IL C-Ik-D)-1 y
(E) Question not attempted
T 1o g 17 e i
T
(TR AREE)
A TRFAZE
B. ufwew
C. Afcmrhasaaitay amEe
D. e

(A) A-IIL, B-IL, C-IV, D-I
(C) AL, B-IV, C-II, D-III

(E) ogai@ uss

. Once the Dodder plant_::__ ets att_g;ched itself to the host plant it loses its root system.
Choose the correct answer from ‘the-options given below:

(A) 2 and4 only (B) 3 and4 only

(C) 1,3 and4 only (D) 1,2,3and4

(B}  Question not gttempted -

T % T § Prefiaa A & @ Y w we ¥ 7
L. %ﬁagﬁwmﬁﬁ?ﬁ%%ﬂﬁwﬁﬁﬁﬁﬁm%maﬁw%ﬁma@ﬁmwﬁéﬁqﬂ%aﬁﬁ

v

"Wﬁmww&ﬁ@r@ﬁ%aﬁaﬁagwnﬁﬁ@ém%

ﬁwgfawﬁ & 4 wh s gh
g?(A) %mamﬂu (B) %aw 3 IMT4
W), A 1,3 a4 (D) 1,2, 304
(B) orara ued

1421 0 15 P.T.O.
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Match List I with List I1.

LIST I (Process) LIST II (Description) 7
A Moulting I.  Process of extracting silk frdm cﬁcoa,ns
B. Reeling II.  Process of removing wool t}om thg_y
body of an animal '5.
C. Shearing II. Process of washing the raw Sheared
wool to get rid of greaso; dlrt and dust
D. Scouring IV. Process of sheddmg puter laver
TR 11 g 113 fem il '
w1 (vfFm) itvi’l 1 (ﬁm"ﬁ y
A HIfET
B. fef
C. dmfa
D. @R

(A) Al B, C-IIL, D-IV
(C) AL B-1, C-IV, D-II
(E) Question not attempted / Gl':!,?lﬁ_cr qs7

AL BIIL C-IV, D-II

Which of the following statements regarding
are TRUE? T
I.  Zoospores are flagellated motile*sporgs produced inside a parent cell called zoosporangia.
2. Conidia are non-motile spores-progucedsingly or in chains by constriction at the tip or laterally on
special hyphal branches calied comghophores

geproductive structures in Fungi and Simple plants is/

cytoplasm and a prote_':" ve coverlng around.
Choose the correct answer £r01 the options given below:
(A) 1 and 3 only (B) 2and 3 only
(C) 1,2and3 (D) 3 only
(E)  Question not atiempted :
T ol T S ¥, mﬁﬁmuwwmaﬁ%waﬁr freforiaa wuAi A 9 B9 /8 FAT EAER Y
L. Wmmﬂgﬁéﬁ%ﬁﬁaﬁaﬁaﬁrﬂﬁ%wmﬁmwaﬁﬁmﬁﬁﬁaﬁ%%l

Q. aﬁﬁ%maﬂﬁméﬁ%ﬁﬁwauﬁﬁiwaﬁﬁﬁw%mﬁawwma&mﬁam%

(B) aw 2 T3
(D) %Faa 3

1421 0 16 P.T.O.
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Which of the following statements regarding Soil 1s/are FALSE?
1. Fertile soil supports plant growth by providing plants with nutrients, acting as a wat
and serving as the substrate to which plants anchor their roots. %
2. Vegetation, tree cover and forest prevents soil degradation and desertification bv Sfabﬂizing the

;;;;;

3 Grass found on pasture lands cannot protect the soil against soil erosion and al@o mhfblts the soil
biological activities. s
Choose the correct answer from the options given below:
(A) 1and3 only (B) 2and3 only (C) 2only
(E) Question not attempted
w%wuﬁﬁﬁ%ﬁgﬁzﬁuﬁﬁﬁwm%ﬁ?
duwlwﬂ'ﬂ%‘ﬁwﬂaﬁqﬁqﬁ%'ﬂ%ﬁaﬁﬁ%aﬁmmw%mmw%mﬁmm
ol B g A wEwH @, G
2. gv@ty, g4, Wﬁ?mwmwmmﬁﬁaﬂw%w%%ﬁaﬂmﬂ%wu T S
Uq giwe! & W Bl g @ar . wd
3. gwnzwqﬁaﬁ et =g fordh B g mw@rﬁw:ﬂaﬁﬁ%ﬁﬁ?%ﬁiﬁnﬁﬁﬁﬁraﬁ%ﬁﬂaﬁﬁ
|
Fr faw T foqwmedl o ¥ @@ 9% g
(A) hae 183 (B) hae 2 8T 3 (C) ham

(E) ogai@ uss

Consider the following statements under Article 18 Hf the Indian Constitution:
1. Any Citizen of India can take any title frotn any fa¥eign state.
2. In Balaji Raghavan v/s Indian Federatigh, 1996, ihe Supreme Court has announced that 'Padma-
Vibhushan', "Padma- Bhushan' and 'Padanishree' is a title but these awards violate "right to equality".
Which of the followmg statements given ab te.gorrect?
(A) 1 only (B) 2 only ; (&) Both1and?2 (D)} Neither 1 nor 2
(E) Question not attempted )
T i ¥ s - :
1. AT & ﬁrwﬁmﬁésﬁ"ﬁwﬁmmmm%l
2. AR THE I HRA GHATE (1996) § weted = 3 a8 srasntia fran ¥ 75 agn—faywor,

"gEH— Ol T qfrq%mrﬁlm%wa%wnmﬁm%m&mmwm%
R : £1

(D) w3

‘Principles of State Policy of Indian Constitution have been clearly divided mto
three parts; i.e. Sogialist, Gandhian and Liberal.

2 Directiye pngcgpjﬁs of State Policy related to co-operative society (under Article 43) of Indian
Consl;d;utlon 18 taken from Nehru 5 objective resolution of 1946.

;;;;;;

(A) 1 onlg. (B) 2 only (C) Both | and 2 (D) Neither | nor 2
(E) QuﬁSthn not attempted
T % Hnfdes Riatal & e § et e v Rrarg @ifmg —
T TN Wiag % @ta ed & it e fgral @ 9 wen § fawea fem mn ¥, aem —
o, AETSTETAT, M ST SEEREN

27 R ST ¥ T % Afa—F1E o fasia St gewrd aifa (STe 43 & oida) § 993 &, 3
dee & Ty w1946 Q4 R ¥ )

iﬂ'ﬁﬂﬂfwﬁﬁ g

Ky haa 1 (B) a2 (C) 1323 (D) A@ 1A 2
(E) orara usd

1421 0 17 P.T.O.
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Consider the following statements :

I. According to the Article 356, Government could declare a state of emergency..N grounds of
external threat only. T T

2. Once a emergency 1s proclaimed the federal distribution of powers remains practlcallv saﬁspended
and all the powers are concentrated in the hands of the union g,cwernmentd 2

3. The 42 Amendment was also passed during the emergency.

Among the various changes made by 4274 Amendment, one was that the’ t‘.imatlon of the legislatures
in the country was extended from 5 to 7 vears. £

Which of the statements given above is correct?

(A) 1 and4 only (B) | and?2 onlvy
(C) 2and 3 only (D) 3 only

(E) Question not attempted

Frerffta sl ux famme SR

;;;;;;;;;;

1. eﬂiﬁﬁﬁé%a@’m%ﬁma@ﬁz%wwwmaﬁwﬁwmm%l

2. mmﬁuﬁﬁw@w%mﬁsﬁmﬁ%mﬁwaﬁammﬁmﬁwﬁwwﬁﬁm
¥ oy T il B T F A ae ey

amm%amémﬁmmnmmﬁmmﬁagan%

3.
4. 4zaaaﬁaaam&q§qmwﬁﬁqmjm R B AR F FEE B 5 a9 Y TETHT 7 a9
HTATN

TR A I AFA T E?
(A) hae 18ft4
(C) waw 2 33

(E) ogat@ uss

“the Constituent Assembly in the correct sequence (earliest to

latest)
L & Constituent Assembly.
2, onstituent Assembly
3. membership of India
4 =
(A) 1,2,3.4 > > (B) 1,432
© 41,237 =7 (D) 3,4,1and2

i,

(E) Questloﬂ nét. gtttc;mpted

;;;;;;

Hﬁtuﬁw """ fepu AT Bt w1 wE B N Tt ST (el § )
L -ﬁﬂﬁaﬁwﬁaﬁwmuwaﬁw

A 12,34 B) 1,4,3,2

€574, 1,2.3 (D) 3,4, 172
(E) orgare usd

1421 0 18 P.T.O.
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Consider the following pairs:
Committee of the Constituent Assembly Chairperson
Language Committee Jawaharlal Nehru ¢
Union Power Committee Moturn Satyanarayana
Minority Committee H. C. Mookharﬁ}e %
Fundamental Rights Sub-committee J. B. Kriplani

5. Advisory Committee on Fundamental Rights Vallabhbh%:i"’f’m@jh
How many pairs given above are correctly matched? E
(A) Only 1 pair (B) Only two pairs}_gjs- g
(C)  Only three pairs (D) All five pairs %
(E) Question not attempted :
Frafanaa gl 9T e S
HRAE 7 Y A
AT AR
EERIECE G
HerEEs ahifa
At SAUHT Ig—|ART
wHiferh STfeRl Y AATEHIT Wt
ENEEREEY S gu e
(A) wIw@1g™
(C) w@3g™

(B) Srara ued

LW =

Do W =

Consider the following statements regarding the Blll of rights :
1. The “Motilal Nehru Cormmttea--..pfesented a bill of rights in 1930.

2. A Bill of nghts pI‘OhibltS gogernment from thus acting against the nights of the individual and
ensure a remedy in case theg__ec 15 a violation of these nghts.

3. Government canfiot put reasonable restrictions on the exercise of our fundamental rights,
Which of the statements’given :
(A) Onlv1and?2
(C) Onlyl,2 and:.ﬁ 7
(E) Questlon ;rot attemfifed

;;;;;

Sve 1s/are incorrect ?
(B) Only2and3
(D) Onlyland3

’-5 >>>>

I 1950 % H‘lﬁﬁﬁmﬁwaﬁrﬁr ﬁanwmwwm|

2 -a@hﬁﬁm@mmﬁwﬁﬁ%aﬁmﬁ%ﬁwmwﬁﬁm%aﬁ?mm
' '@rw%mmﬂngﬁﬁﬂam%l

ATHIT HITe® ATUH $ TN 9T SFaqol ieae T8 @ Jal § |

TR W A T Fe T 7

(A a1 a2 (B) ¥aw 2 a3
@y 1,2 8T 3 (D) Faw 133
(E) orgare usd

1421 0 19 P.T.O.
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Consider the following statements:
1. A Bill pending in the legislature of state shall lapse by reason of the prorogation of the House or
Houses thereof. 7
2. A Bill pending in the legislative council of a state which has been passed by the leglslétlve assemblv
shall lapse on a dissolution of the assembly.

[,

3. A Bill which is pendmg in the legislative assembly of a state or which hfﬁfe Been passed by the
legislative assembly is pending in the legislative council shall not lapse én a ;leSﬁDlllthl‘l of the

assembly
Which of the statements above 1s/are correct?
(A) 1and?2only (B) 2 and 3 only
(C) 1and3 only (D) 2 only
(E) Question not attempted
Fratafa saet @ e 3¢

1. ﬁﬁ@fﬂﬂ%ﬁﬂﬁ%ﬁﬁﬁﬁﬁﬁﬂﬁ@%ﬂﬁmaﬁf%ﬂmﬂﬁ%mwm|
2. fenedt o 2 T afvag 7 s fadams, W%mw%mﬁﬁﬁw% e aw & faem w
T A -
- R fades, Gﬁﬁ;ﬁwaﬁﬁwwﬁaﬁﬁ%m%mwﬁqﬁﬁﬁw%wﬁaﬁmﬁ
wfea &, %mw%ﬁ‘rmwmwaﬁﬁm '
IOfE W | B A w7 :
(A) hae 182
(C) waw 133

(B) Srara ued

Consider the following statements :
1. A parents or guardian to prowde e-;pportum es for education to his child or, as the case may be,
ward between the age of six to ﬁ)urtf_;en vears.

2. To provide early childhood care aid education for all children until thev complete the age of six
years.

3. To protect and improve th atura

have compassion for living* es,

To safeguard publlc woperty and to abjure violence.

To provide primary healthcar to the persons below poverty line.

Wthh of the statements abeye 18are.felated to fundamental duties?

(A) 1,2 and3 only : (B) 1,3 and4 only

(C) 1, 4 and 5 only (D) 1,3 and5 only

(E)  Question not attémpt

vironment including forests, lakes, rivers and wild life and to

Jll-l“-\

Frafefaa ®uet ot fmm wy
I wTe-figm atE 7T OF A TieE a9 A B g A or, AenRerfy A a1t % Ry R &
HATE HE BN
2 Wﬁﬁwﬁmﬁwmaﬁwwmmmﬁﬁw Y Y g F T FA,
e WA BT % v v B

T qaterCoT &Y, foEd Siata g, 309, 41 of o= oid ¥, Tenm @Y S S aHE By
Rferiora % ket 720 9 @ |

o, TSI WA Bl AT T ol e & g @)

5. AR o % IR T T A % foe s wre gl e w5t
m@eﬁgﬁ%aﬁﬂwﬁmq@aﬁm%m&a%ﬂ%?

%m) e 1,2 63 (B) % 1,3 a4

() haw 1,465 (D) FaA 1,335
(E) ogaia@ uss

1421 0 20 P.T.O.
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Federalism in India 15 in recent yvears moving from cooperative to bargalmngr federal system,

Reason R :  Residuary powers of legislation are lyving w1th the centre,

(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A.
(C) A s correct but R is not correct,

(D) A s not correct but R is correct.
(E) Question not attempted P

i Ay oM ¥ @ﬁaﬁmmA%mﬁaﬂT@%aﬁmR%ﬁmﬁﬁww%
AHETH A
mﬁaﬁm%mﬁ?ﬁ%ﬁﬂmﬁﬁﬁﬁﬁmmw ; waﬁﬁﬂ
(A) A ST R 3 98 ¥ ot R, A %1 98 = #ia &
(B) A 3t R Gl ¥ Al R, A 1 @ wre T &
(C) ATEtafer RE@ i
(D) AT ¥ @R R &

(E) ogai@ uss

Given below are two statements:

Statement I : The Indian National Conggfess.rejected the “Cripps Proposal’ because Congress was not
convinced with the"dominion status offered by the Brtish.

Statement II  : The Muslim League accepted the ‘Cripps Proposal’ because the indirectly demand of
Pakistan was. _accefted-by the proposal.

In the light of the above statemaents ch@ose the correct answer from the options given below :
(A) Both Statements 1 anfl- II dretrvie.

(B) Both Statements L |
(C) Statement I 1s coere andStatement II is false.
(D) Statement I 15 1ncorreqt and Statement II is true.
(E) Question not afte;;gptéd

,;Ww%%mﬁ%ﬁqwﬁmwa@rmmwaﬁ
(A B 160 113 e (B) Fe 1 4K I1 3T oraea ¥

(C e 1 T8 % i T 1T 3 (D) FUF [ A & I B [ T F)

(E) ogaia@ uss

1421 0 21 P.T.O.
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?aaermnqﬁmwaamgﬁq

Given below are two statements :
Statement I  : The Fundamental Rights are non-justiciable in the courts.
Statement II  : The Directive Principles of State Policy (DPSP) are made justiciable m thf: Lourts.
In the light of the above statements, choose the correct answer from the options given below -
(A) Both Statements I and IT are true. 477

(B) Both Statements I and II are false.

(C)  Statement I 1s correct and Statement 11 is false,
(D) Statement I is incorrect and Statement II is true.
(E) Question not attempted

T @ wem Rw T E

FA L Hifoe Al maeal o e TE4 E)

FAI : A & i Frder fagra =mameal § arara ¥ .
Sl HeA % ot B R g T e A & wd Sox @ v 4

(A)  ®U 1 307 11 391 & ¥ (B) e I i 11 3 o 1
(C) w198 7 T e 11 7eiq 3 (D) Her | e F ST B 1L ae &L
(E) ogai@ uss §

Given below are two statements : o
Statement I  : “The doctrine of basic structure =has been. ;)ropounded by the Supreme Court in the
Kesavananda Bharati case in 19‘?3 O
Statement Il  : The Indian Parliament has the; powe : end the whole Constitution.
In the light of the above statements, choose the correct ariswer from the options given below :
(A) Both Statements I and II are true.
(B) Both Statements I and II are false.
(C) Statement I is correct and Statemeut 11 15 false.
(D) Statement I is incorrect and Statement] istrue.
(E) Question not attempted :
T A wy R R
FAL: 1973 ¥ BIAMFT WAL HAS & Fator = a1 JRE s fagia #iufaofa e #
FEAI : AT UEE % A X R ¥ gelem s 3 g ¥
FURIF el % ATIh ¥ e i freed ¥ ¥ w8 IAT 99 B

(A) U 1307 11 30 A (B) A I o0T I 3 31 ¥

(€) mla@r%aﬂtmw T 5 (D) BAT [T & R B [ 9 &)
(E) ogaie usd )
Arrange the foll}jg_m-iﬁ%*mﬂyéffhents chronologically {(from earliest to latest)

a. Khedy/ San’agraha b.  Ahmedabad Satvagraha

% RO\y;l’att Acty Safvagraha d.  Champaran Satvagraha
Choose the/ Ji:fi'rrect #hswer from the options given below:
(A) adhd (B) cdab (C) dbac (D) dach

(E) Questiom, pot attempted

ﬁﬂﬁf@aﬁm@ﬁmmﬁmﬁuaﬁ (orfedee T o)

b, STEUSER TEEE
d. U qEE

Ky acbd (B) cdab (C) dbac (D) dach
(E) orafea usd

1421 0 22 P.T.O.



47  Match List - I with List - II :

List - 1 (Schedule) List - I1 (Provision/Subject)
1. First a. The state and the union termitory
2. Second b. Qath ’
3. Third ¢.  Allocation of seats in the Rajya.Sabha
4.  Fourth d. Administration and Control of o
Scheduled Areas and Scheduled Trzbeﬁ
5. Fifth e.  Provision as to the emolysii¢nts of thié

President, Judges and Cdmptroll‘er and
Auditor General of In;;ha i
Choose the correct answer from the options given below :
(A) 1-a, 2-b, 3-¢c, 4-d, 5-¢ {B) 1-b, 2-c, 3-d 4~e S-sa
(C) 1-a, 2-e, 3-b, 4, 5-d (D)
(E) Question not attempted

TR - [0 TR - 1T Frem Hife

T - 1 ()
1. wum
2. Tl
3. qad
4. =g
5. WM
Fr faw T foemedt ® | 7 AT g

(B) 1-b, 2, 3, 4-¢, 5-a
(D) 1=, 2d, 3-a, 4-b, 5-¢

(A) l-a, 2-b, 3¢, 4-d, 5-¢
() 1l-a, 2-¢, 3-b, 4-¢, 5-d

(E) organa usd
48  Match List - I with List - 11 :
List - 1 List - I1
a. S Khilnani I.  The idea of India
b. Rajm Kothari II. Democracy and Discontent
¢. R.Guha III. India After Gandhi
d. Atul Kohli IV. State against Democracy

Choose the correct gnswer from the options given below

(A)  a-L, b-IL ¢l 4TV & (B)  a-1V, b-IlL, ¢-II, d-I
(C)  a-llL, b-ILsc-1, IV (D) a-l, b-1V, ¢-IlI, d-II
(E)  Questiop” Ymt attempted

A - LB Tl - 11 f%ﬁa?rﬁﬂq
el

T - 10
1. 2 omefe s sfs
II. IHReEr Us fegde
I fear smeee iy
4 e IV, ®2Z S SHhdt
:ﬁ%mmﬁﬁﬁrﬁ@raﬁmiﬁrwaﬁﬁz
t4) 4L bl 1L, d-1V (B)  a-1V, b-IIL, ¢-II, d-I
(C)  a-IL b-L ¢, d-1V (D) a-, b1V, c-II1, d-1I
(E) ogaia@ uss

1421 0 23 P.T.O.



49  Match List - I with List - IT :

List - 1 List- 11
a. Estimate Commuttes I. 22 Members
b.  Public Account Committee II. 30 Members
¢.  Rule Committee of Lok Sabha IIL. 31 Members
d.  Department-related Parhamentary IV. 15 Members

Standing Committee
Choose the correct answer from the options given below
(A) a-Il, b-I, c-1V, d-111 (B) a-IV, b-lI, c-II, ¢-I
(C)  a-ll, b-IL, ¢-1, d-IV (D) a-I, b-l, eI A1V
(E) Question not attempted ’

TR - [0 TR - 1T Frem Hife

-1
a ﬂj’qﬁﬂﬁﬁf
b. e q@ |
c. IS a9 Bl fraw "iufa
d.  Tawm g sadm s gttty
Frd faw o fommedl ®§ T A IO H a9 BN

(A) a-IlL b, c-1V, d-111
(C) all b-IlL, ¢-1, -1V

(B) Srara ued

50  Match List - I with List - IT ;

List - T (Articles) List - 11 (Provisions)

a. 265 Taxes not to be imposed save by authority
of law

b. 266 II.  Consolidated fund of India

c. 267 III. Contingency fund

d 263 IV Inter-state council

tam the options given below :
(B)  a-IV, b1l c-II, d-I
(D)  aL b1, eI, d-IV

Choose the correct ansy :
(A) a-L b-IL c-1II, &IV
(C) oL b-IL ¢-E d-IV
(E)  Question not zitzemptgd
T - L0 Al ;_@f firerT <BifoTC -

T - 11 ()
1 A % U & oA w78 aman s
II. wrea & g iy
1L smRemar il
IV, ST-Td 9wy

ég*ﬁ%%gmﬁﬁq‘rfr A TAT HY T R ¢

HA) L b eI, TV (B) -1V, b-IIL, c-II, d-I
(€7 a-II1, b-II, c-1, d-TV (D)  a-IL, b-l, ¢IL, d-IV
(E) ogaia@ uss

1421 0 24 P.T.O.
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32

Match List - I with List - IT :

List - T (Articles) List - 11 (Provisions)

a. 243 (K) 1. State Finance Commussion

b. 243({D II. State Election Commission _

¢. 243Z(D) I Committee for District Plannifiz %

d 243 Z(E) IV. Committee For Metropolltan Plaml;ng
Choose the correct answer from the options given below : W
(A) a-, b-IL, c-II1, d-1V (B) a-IV, b-IIL, ¢-II, d-I
(C) a-lll, b-Il, ¢-I, d-1V (D) a-IL, bl oL, gl
(E)  Question not attempted

TR - [0 TR - 1T Frem Hife

T - 1 {(332%)
a. 243 (&)
b. 243 (3m)
c. 2439 (F)
d 24393 (§)

I i o fmedl & 9 | IR /1 TS B
(A)  a-L bIL ¢-II, d-IV
() a-ll, b-IL, ¢-1, d-1V

(B) Srara ued
Match List - I with List - 11 :
List -1
a.  Sanskritization I.  Rajm Kothari
b.  Secularnization of caste II.  Granville Austin
¢.  Social Revolution III. D L. Seth

IV. M.N. Srinmivas

ihe bptions given below

(B) a-IV, b-III, c-II, d-I
(D) a-lL b-l, ¢-IIL, d-1V

d.  Politicization of Caste™,
Choose the correct answei
(A) a-I, b-IL, c-III, d-f
(C)  a-L b-I, c-Ld-1V
(E) Question not attempteifl

T - 1

I Tl ®ierd

I Ak e

I 3. 9. 9%

. IV. . . St
égﬁﬁgmﬁﬁq‘rﬁ@raﬁwwwaﬁm
'-é.{fz}) g-[ b-IL, ¢-II1, d-1V (B) a-IV, b-IIL, ¢-IL, d-I
(C¥*" a-IIL, b-IL, ¢-1, d-1V (D) all b, Il d-IV
(E) orgar usd
1421 0 25

P.T.O.



53  Match List - I with List - II :

List - T (Articles) List - 11 (Provisions)

a. ol I.  Impeachment

b. 72 II. Pardoning Powers

c. 534 III. Election

d 123 IV Ordinance %,

e. 76 V. Appointment of Attorney Gengral
Choose the correct answer from the options given below :
(A)  a-L, b-V, ¢l d-IIL, eIV (B) a-IV. b-IIL, ¢c-IL, d-I, g5V,

(C) adl, bII c-Ill, dIV eV
(E) Questlon not attempted

T - [0 TR - 1T Feme i

Tl - 1 {org3e)

6l

7

54

123

76
%Wwﬁmﬁ%ﬁwwwaﬁﬁq

(A) a-, b-V, ¢-IL, d-IIL, eIV
(C) a-L, bl ¢-II1, d-TV, e-V

(D) a-L b-III, ¢, d-IV. E;V

oo ow

IIIcII d-I, e-V
b-1H, ¢, dIVeV

(B) ofaid ued
54  Maich List I with List I1.
LISTI : AISTII
A Albatros plateau North Atlantic Ocean
B. Telegraph plateau 1. North-West Pacific Ocean
C.  Amsterdam-St Paul plateau {II.  South-East Pacific Ocean
D. Kurnl-Kamchatka Trench “IV. Indian Ocean

(A) A-2, B4, C-l,D-3
(C) A-1.B-2, C-3,D-4

(E) Question not attempted
b S TR i
1

(B) A-3,B-1, C4, D=2
(D) A-4.B-3.C-2,D-1

T
[ SO8 Sedies T
. sai—ufyam v gemme
1. SRoI-d wend FerErTe

IV, & gsmrme
(B) A-3,B-1,C4,D-2

(A) A2 B4 C-l :
(D) A-4.B-3.C-2,D-l

(C) A-1.B-2,C-3
(E) ai'gﬁrﬁawaa

55 Given below is glist of pf(ﬁmlnent Geographers and the countries to which they belong. Identify the pair(s)
which is/are wffihglv matched.
l. Jean Brunhés, #France 2. Muhammad al-Idrisi - England
3. Dgid Harvexf Spain 4. Grehard Schott - Germany
Choose the catrect answer from the options given below:

(A 1 andvﬁl on,ly (B) 3and4 only (C) 1 and 3 only (D) 2and 3 only

;;;;;;

(E) #Juestiorizot attempted
Hﬁ%m %ﬁaﬁraﬁésﬁaﬁqﬁﬁﬁ%éﬁ%%%ﬁﬁ%m%laﬂﬁ%ﬁaﬁwaﬁﬁmﬁﬁ%ﬁﬁﬁw
w0 T2
7 T, x‘rﬁ‘ﬂa:a wiE 2. amza'&eﬁ T
3. Y 3fs B - W 4. i< -

STV M Rac S -
(A) *hae 1afe4 (B) e 3 aft 4 (C) Faw 1 33 (D) haw 2 &fT3
(E) ogaia@ uss
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37

Given below are some of the definitions of Human geography as defined by famous geographers. Identify
the pair(s) which 1s/are rightly matched.

I.  Human geography is the svnthetic study of the relationship between human soc;1etlees apd earth’s
surface — Friedrich Ratzel /

2. Human geography 1s the study of changing relationship between the unrestlng ﬁ’ran and t}ie unstable
carth — Ellen Semple 3 5

3. Human geography offers a new conception of the inter relatlonshlps between f;;}l‘th and human
beings — Ellsworth Huntington 7

4. Human geography may be defined as the study of the nature and dlstrrbutlon ‘of the relationships

-----

;;;;;;;

Choose the correct answer from the options given below:
(A) 2and4 only (B) 3and4 on.lg
(C) 1and 2 only (D) 1and 4 ohly
(E) Question not attempted P ' ¥
Wt TR 2T afr e e g afm @m;mm@aﬁmﬁm%ﬁw%
| S e T S SIR/SH SRl geE S |
1. WWWW@T‘{@H&W%%WW?&WEW% wEE
2. T S I TP ST SRt gt % ey awerd st veaa ¥ - e A
3. AME e 9o ofk Wa & v st o H‘{muﬂwu@ﬁm% ueead Efme
4

A i B i At o W At ve e % A w3 agkn of faaer %
e % w A afafi B s g % & i foew & W

e fem Tw feeRedt & § @@ IO g

(A) Faw 2 8l 4 (B) = 334

(C) waw 1aiT2 (D) *aw 1 84

(B) Sranra v

Arrange the following five zon lagic region of an ocean in the increasing order of its depth from

the surface.

1. Mesopelagic
3. Abyssopelagic .
5. Hadopelagic
Choose the correct
(A) 5,1,4,3, 2
©Cy 1,235, 34

2. Epipelagic
4. Bathypelagic

sv&er from the options given below:
(B) 2.1,4.3,5
(D) 4,1,2,5,3

2. iU
4. s
5‘5@) 5 1,4,3,2 (B) 2,1,4,3,5
571,2,5,3,4 (D) 4.1,2,5,3

(E) ogaia@ uss
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With reference to the different tvpes of soil found in India, identify the pairs which is/are wrongly matched.
1. Submontane soil - These are formed by the deposition of eroded material and are foynd in the Tara
region stretching from Jammu and Kashmir to Assam, ¢
2.  Karewa soil - These are the lacustrine deposits found in the Kashmir vallevs and leadamah
Valley. T,
3. Peaty and Marshy soil - These are typical soils of the monsoon climate charactérlsegl by seasonal
rainfall and is deficient in organic matter.
4.  Laterite soil - These soils are rich in humus and organic matter.
Choose the correct answer from the options given below:
(A) 1and?2only (B) 2 and 3 only
(C) 1,3 and4 only (D) 3and4only % A
(E)  Question not attempted TR g
Wﬁqﬁaﬁaﬁﬁﬁﬁmwﬁw%mﬁﬁwﬁ%ﬁraﬁmm%ﬁmﬁﬁﬁmm%ﬁm

;;;;;;

T EN
1.

3 ﬁﬁzaﬁ'{aﬁaﬁﬁw &tﬁaﬁra&ia&’rﬁré}waﬁ“ _:W@ﬂ%&lﬁﬁﬁm%aﬁ'{ﬁﬁﬂﬂﬁ?ﬁ

TeTet i B

4 WES g - A g g o wEf g Wﬁlﬁ’r%l

Y fw T fowet F | @ ST g
(A) hae 182
(C) Hhaa 1,3 a4

(E) ogai@ uss

!

The terms kharlf and ‘rab ongmdl from Arabic language where Khanf means autumn and Rabl
means Spring.
2. Kharif crops need cold: eather or growth and need less water.
Rabi crops generallv réqulre niore water and are called monsoon crops.

4. Zad 1s short croppmg se: "':durmg summer months and mostly seasonal fruits and vegetables are

grown in this sesas;

Choose the correct answer frem.the options given below:
(A) 1and2 only ' (B) 1and4 only
(C) 3and4only %, (D) 2and 3 only
(B) Questlon xiot attéi’nfited

LF8]

%%{A) mlaﬂu (B) Faw 13T 4

;;;;;

(" e 3 o 4 (D) ¥aw 2 a3

1421 0 28 P.T.O.
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Match List I with List I1.

LISTI LISTII
(Pedogenic Process) (Descnptlon)
A.  Podzolization I It is associated with humid c:ald mlcf-iatltude
climates and coniferous vegetatlon 552'5
Laterization II. It is associated with soilg” f’ound in*
tropical and subtropical, environments
C. Calcification III. It 1s associated with warm, semf-arld

environments, usuaﬂv ‘ta, graﬁsland vegetatlon
where evapotranspitatlon @xceeds precipitation
D Gleization IV. It 1s associated w1th paorly drained and water

aaaaaa

found in the &ppez pomon of the soil

(A) AL B, CIILD-IV (B) A-I B-I, G-IV, D-H
(C)  A-l, B-II, C-III, D-IV (D) AV, B-u{ Q,lg D- T
(E) Question not attempted o i
Tl [ % T 119 fam i)
T
(FoTAE TokH)
A, SrEAfeASE | P mﬁaﬁa Hi— e Serarg 3
¢ {rpurdl Ty | Eatha ¥
B. WA T Bmmﬁa%ﬁtr IR CHEEE Pl B R
¥ U1 T A Pz & geitia ¥
C. HRAREHIA T, st greh Tt ¥ gl ¥,
ST I TR % A3 o 781 aro—
SN § STAHT SR FAE |
D. TR T8 3 AT & G T Frewrl o
T WA AR & W AR § A A
122l & TSI WP A U S §)

(A) AL B-L, C-IILD-IV
(C) AL B-IL CIIL, DIV

(E) ogai@ wsw

Which of the following stateménts witht reference to natural resources is/are FALSE?
1. Biotic resources are th __resources obtained from biosphere and have life such as human beings,

(B) A-L B-II, C-IV, D-III
(D)  A-IV, B-IIL C-IL, D-I

2.

3.

are called réhewable, resources.
Choose the correct afigyver, f:rom the options given below:

(A) lonly 4 1B) 2 and 3 only (C) 1and 3 only (D) 2 only
(E) Questlon n(*)t gttqmpted
i sapE ¥ frefoiad sae § ¥ 39 T/ o 3E ?
L. %wﬁw%ﬁmwm%ﬁﬁﬁwﬁm%aﬁﬁw ety ofiT S, W,
g SR

ST % = Y ST A 2
'*‘gmﬁﬁa@a&ﬂﬂﬁuwﬁaﬁ%aﬂtmaﬁﬁm@aﬁwﬁ% TAH IS G HEAT
%:naﬁqmﬁmﬁﬁaawgﬁq
Ky e | (B) e 2 33 (C) %Faa | A3 (D) w2
(E) AT Ue

1421 0 29 P.T.O.
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Match List I with List I1.
LISTI

(Dams)

Nizam Sagar Dam
Somasila Dam
Nathpa Jhakn Dam
Linganamakki Dam
(A) AIII B-1, C-IV, D-II
(C) A-IV, B-1, C-II, D-III
(E) Question not attempted
Tl [ %1 I 19 fam Bt
T

(atr)

e | @iy
TR F74

A FEHST A
IKRELEEA R 1B

(A) A-III B-1, C-1V, D-II
(C) A-1V, B-1, C-1, D-III

SO

O Ow >

(E) oIgar@ usd
Match List I with List I1.
LISTI

A Geographer who introduced the
concept of 'stop and go determini

B. Geographer who opined that climate.:

profoundly influences man, his-gultur
and geological processes
Geographer who wrote the

%(A) A-IL, B-L, C-IV, D-MII

(@)++"A-1, B-IV, C-IIL, D-II
(E) Question not attempted / Gl':!,?lﬁ_cr s

1421 0

(D)

L
II.
118

IV,

I

M1

Iv.

(B)
(D)

AL, B-II, CII, D-I¥"
A-II, B-1V, C-I, D- IH,%

LISTII
(Rivers)
Pennar river
Sharavathi river
Manyira river
Sutle) river

LISTII
Ellsworth Huntington

Griffith Taylor

Jean Brunhe

Isaiah Bowman

T
5

L. fufteer 3o

11 S & o)
V. EA

A-IV, B-L, C-II1, D-II
A-IV, B-L, C-IL, D-III

P.T.O.



64
weight) in the Earth's crust.

Arrange the following elements in the decreasing order of their availability (in terms of percentage by

Iron
Sodium

-9 ® Frefafaa qet Bl S9! STsar & - 9T ged 9 | (avﬁ%ﬁuﬁrm%mﬁ mﬁuﬁaﬁﬁm

1. Silicon 2,
3. Oxygen 4
1. fafersi 2.
3. ST 4.
Choose the correct answer from the options given below:
T fow o et A | w9 s g
(A) 2>1>3>4 (B)
) 1>4>3>2 (D)
(E)  Question not attempted / STIANT U
65  Match List I with List I1.
LISTI
(Landforms)
A Cirque L
B. Lapies
C. Natural levees
D. Pediplain B\
(A) A-IL B-IV, C-1, D-III (B)
() A-l B-1V, C-11, D-III (D)
(E) Question not attempted
Tl [ %1 T 119 e St
Tl
L.
II.
I11.
IV
"gm) A-IL, B-IV, C-1, D-III (B)
(C)" A-L B-IV, C-IL, D-III (D)
(E) aij,?rﬁﬁ LE]
14210 31

IS
qifeay

3>1>2>4
4>1>3>2 7%

LIST, -
{(Oecurrence)

The Tandferms found associated with
oodplains, along the banks of large

Thefmost common of landforms in
glaciated mountains

¢ landforms with a relatively flat
rock surface formed by the joining of
several pediments, generally found in
arid and semi-arid areas

The landforms formed when most of
the limestone is taken away by the
pits and trenches

A-IV, B-I, C-II1, D-II
A-IIL, B-IV, C-II, D-I

T I

(T 2

T3 AR % feaTe, S16 % A ¥ g
B y-omgf

e wEat & v A
ot

T VAR TUE T3 DI TAT 5 a1
V—-STFHTT S SR T 6 7R
FH- A § WY S I F3 AfeHTH
¥ 3 | T B

T —AHREl 9 I41 & TG SHIST
S

A-IV, B-L, C-II1, D-II
AL, B-IV, C-II, D-I

P.T.O.
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Given below are two statements:
Statement 1 .~~~
launched the Green Revolution with the help of a geneticist, M.S. Swaminathan.
Statement 11: 8

During Green revolution high-yielding vaneties (HY'Vs) of dwarf rice seeds namely? Lerma R010-64-A and
Sonara 64 was introduced in India, which were imported from Japan.
In the light of the above statements, choose the most appropriate answer from, ﬂ‘le Opthl‘lQ’glvel‘l below:
(A) Both Statements 1 and 1T are ¢correct E

(B) Both Statements 1 and II are incorrect

(C) Statement I is correct but Statement II 1s incorrect
(D)  Statement I is incorrect but Statement II is correct
(E) Question not attempted

R 2w few o ¥
AL

wﬁmmaﬁwm@r%ﬁﬁaﬂﬁraﬁsﬁmam
FA I1:
sﬁamﬁ%wmaﬁ—aﬁaﬁaﬁ—&rﬁwmﬁ(HWs #9fq Lerma Rojo-64-A 3T Sonara 64 %l
A | g% e T, 577 S A s fohan T bt g
TR eI B A e g A R R §
(A) ® ST I et ¥

(C) HFIEA & AfHT e [179q &

(E) ogai@ uss

Given below are two statements:
Statement I: :

The National Food Security Missior (NFSM of India was launched in October 2009
Statement 11:
The mission was launched with obiectlve to increase the annual production of rice by 10 million tonnes,
wheat by 8 million tonnes and pulses by 4 mullion tonnes by the end of the Eleventh Plan (2011-12).
hoose the most appropriate answer from the options given below:

T 3Ugad ITT B T4 BT
b 1 80 11 3T e &
HeH 1 TAq & Afehd S AR S

(A)
(B)
(€)
(D) Statement I is a,ncorredt but Statement II is correct
(E)  Question giot atfempted

e 1 e o

ﬁ’ﬁ‘ﬁﬁ%ﬁﬁﬂﬁﬁ@ﬁ@‘ﬁ%ﬁﬁﬂﬁﬂﬁﬁﬂ@@%ﬁﬂwﬁﬁ@
WA) o [T ST | ¥ (B) U9 1 X [ 51 T/eid &

(O~ Lt & A o 1177 & (D) For 17 ¥ R For 198 &
(E) Jrgaia e

1421 0 32 P.T.O.



68  German Economist Johann Heinrich von Thunen created one of the first geographical models related to
agricultural land use.

;;;;;;;

Which of the following statements are FALSE with reference to assumptions of Von T,hunen s Location
Theory? %

l.  The isolated state comprises of one market area and an agricultural hinterland,

2. The hinterland ships its surpluses to no other market except the city.

3. There are multiple modes of transport.

4. Thereisa homogeneous physical environment, including a uniform plam_arouncl the city.

5. The hinterland is inhabited by farmers who cannot adjust automatlealh toﬁf:he market’s demands.

Choose the correct answer from the options given below:

(A) 1,3 and 5 only (B) 3and3only
(C) 2and 4 only (D) 2, 3and5s only
(E) Question not attempted

;;;;;

) f
m%%w%&aaﬁwﬁ%uﬁﬁﬁnﬁf@aﬁﬁﬂ%ﬁﬁmmm%
qu'cﬁrmrﬁr qzﬁw%ﬂaﬂ'(q;f&mmﬁ?ﬁsﬁm anﬁﬁ%l

N

%mwﬁmﬁﬁeﬁwgﬁq
(A) @ 1,333
(C) %h—qﬁrzaﬂu

(B) Srara ued

69

LISTII
A Fifth Five Year Plan
institutions
B. KVIC (Khadi Village |
Commission) was set @
C.  Gadgil Yona Fapn
D. The Minimum Ngeds, Programme
(MNP) was launchgd
(A) A-l, B-III, C-IL-B-IV

II.  Third Five Year Plan
M. Second Five Year plan

IV. First Five-Year Plan
(B) A-IV, B-II, C-II, D-1

(C) A, B-IL, Ci, D-IV; (D) A-1IL B-IV, C-L, D-III
(E) Questlon not ast;emptetl
qﬁ’r[mqﬁ’r[l ﬁﬁﬁ%qqaﬁqug—a@reﬁﬁmwwaﬁl
@ "-5;, ﬂ.’ @ ll
A. wwr&ﬁaﬁ%i\ﬁm%wm(ms)qg@ [ Oigdl daase e
Fib-ig) WY % T gE ey My
B. ,,KViE, (BT fera sseiet wHter) W N el gaad g
T
C SR aer 1. 3= dead g
;;;;; “B, & fafrm S W (MNP) &t
; g:raem & T IV. T8l GeadE SsmT
4) _.A-L B C-II, D-IV (B) A-IV, B-IIL C-IL, D-I
(C) A-III B-II, C-1, D-IV (D) A-1L B-IV, C-I, D-II
(E) i@ ued
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Arrange the following Coalfields of India from South to North direction.

1. Singarem c¢oalfield 2. Jhilimih coalfield
3. Giridih coalfield 4, Neyveli coalfield
Choose the correct answer from the options given below:
(A) 1,423 B) 4,213
© 41,23 D 2.1.3 4
A B FrAREa FAbesd HI 301 § ST 9 A o Fanea &1
1. RaE s & 2. Tofefirel i &
3. Tl whmm d@w 4. A BT @ 4
T fow o et A | w9 s g
(A) 1,423 B) 4,2,
) 41,23 D)y 2,1,
(B) Srara ued
71  Match List I with List II.
LISTI LIST IL.-
(Thermal Power plants in India) (States)z
A.  NTPC Ramagundam Super
Thermal Power Plant
B. Mundra Thermal Power Station
C. Megjia Thermal Power Station
D. Trombay Thermal Power Plant
(A) A-IL, B-IV, C-1, D-III
(©) A-IV. B-L, C-II, D-III
(E) Question not attempted
Tl [ %1 e 19 i i)
I 'ﬂjﬁ 11
(T F PR T ) =)
A, TR TEEH YU oA aET [ &g
B. T ofd TEX w9 . ufyew s
C. afvman e aat |ym 1. ST
D. I gHd 9T Wie v,
(A) A-II B-IV, C-1, D-III (B) AL B-1V, C-II, D-1
(Cy A-IV. B-IL, C-II, D- III (D) A-L B-III, C-IV, D-II
(E) aij,?rﬁﬁ LES
72 Match the following
1. Pacific & Pk a Tonga Trench
2. Amerncan &« Pamﬁc Plate b. Manana Trench
3. Indo-Australi‘n.&Pacific Plate ¢.  Aleutian Trench
4. Paaifig Mate & Okhotsk Plate d.  Kuril-Kamachatka Trench
(A) 1-a, 2- b 3¢ b (B) 1-b, 2-¢c, 3-d, 4-a
(C) 1-b, Z & 3-a, 44d (D) Il 2-d, 3-a,4-b
(E) Quﬁstlfm not attempted
a.  aFm ?;El
b #fmr =
c. A T
P 4% d.  FHA-HAEH T
A) I-a, 2-b, 3-¢, 4-d (B) 1-b, 2-¢c, 3-d, 4-a
(C) 1-b, 2-¢, 3-a, 4-d (D) l-c, 2-d, 3-a, 4-b
(E) ogaia@ uss
1421 _0 34

P.T.O.
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Which of the following is not an example of Rocks with Phaneritic texture?
(A) Granite (B) Diorite
(C) Ryolite (D) QGabbro
(E) Question not attempted

Frafaiga © 4 B9 41 99 BATHES ST B SR AE B 7

(A) T (B) feame
() TRz (D) =
(E) oIgar@ usd

Consider the following statements :

1. Tiber river delta is not an example of cuspate delta.

2. Tiber river enters into Tyrrhenian sea.

3. The Tiber river flows through the city of Rome.
Choose the correct answer from the options given below -
(A) 1 and3 only (B)
(C) 2 and 3 only
(E) Question not attempted
Frafaiaa o 9T fem &1

1. RS TE ST B w FI SAE T S ¢

2. AR R AR LA g9 ¥ AR )

3. g% T8 U9 8T ¥ eI 61
Frafaiaa B T Rt & | @81 39 gl
(A) Haw 18T 3
(C) haw 2 33

(B) Srana ued

Consider the following statemer
1.
2. The most commgn Achaean rock I3 gneiss,
3.
Chosse the correct

(B) Faw@ 1
(D) Haw | af2

er from he options given below :

(A) land?2 onlv ’-és., (B) 1and3 onlv
(C) (D) 1 only
(E) i
ﬁnﬁf@aﬁém‘f T ﬁﬁm ETd
7 S el T A R et e o 1

A fﬁmﬁ“ﬁwgﬁ

(A) mmﬂ'{z (B) Faw 1 3T3
(&5 et wlt o
(B)  orgufed s
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What is the correct sequence of the given geographic feature from South to North?
(A) South-Sandwich Trench - Puerto Rico Trench - Japan Trench - Kuril Trench
(B) South-Sandwich Trench - Japan Trench - Puerto Rico Trench - Kuril Trench
(C)  Puerto Rico Trench - South Sandwich Trench - Kuril Trench - Japan Trench
(D)  South Sandwich Trench - Puerto Rico Trench - Kuril Trench - Japan Trench
(E) Question not attempted

Tm Ty TS —STBRTE B IR H ST B AT T HA R 7
(A) TR st ¥ - <@ fenl $7 - sE ¥ - |fRe ¥
(B) urey sl ¥9 - S 39 - <@ R ¥ - |yfw ¥
() =2 f 39 - aey defm ¥ - wgiw 39 - 9ue ¥
(D) ey dzim ¥ — w2 fat 3 - wita ¥ — W 3w
(E) orai@ usT

Given below are two statements:
Statement I :

:éribed to Kautilya, the chief advisor of

The Arthrashastra 1s a treatise on government and economics
Chandragupta Maurya. i

Statement 11 :

By the third century B.C. the economy of North India %as predominantly agrarian. Land revenue had
become the accepted source of income for the-ge mment. Kautilya refers at length to methods of tax
collection and related problems. Modifications, in land-tax appeared to be the direct concern of the king.

In the light of the above statements choose thescorrect answer from the options given below:
(A) Both statements I and II are tru
(B) Both statements I and II are
(C) Statement I i1s correct but
(D)
(E)

’-5;, 5.’

. ij?ﬁaieﬁlqallﬂﬁ%l

5;(;13*}»5-,,,&#-?! /5o [ U 117 2|
Oy o [HA % Ty we 17T ¥

(I et [t ¥ fopeg ot It ¥
(E) orgafe s
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Statement I :
The walls of the Buddhist care Shrines were coverage with murals illustrating Buddhist n
Statement 11 : #
A more distant region where this tradition of Indian painting was adopted was Central A51a Commpncmg at
Banivan in Afghanistan, and Traversing Central Asia were serious of Buddhist monastrles w1th shrlnes cut
into the hills and covered with murals.
In the light of the above statements, choose the correct answer from the options gn/en b@lcw
(A) Both statements I and II are true. %
(B) Both statements I and II are false.

(C) Statement I is correct but Statement II is false.
(D) Statement I is false but Statement II 15 correct.
(E) Question not attempted

1 I:

;;;;;

;;;;;

wERIO: Ty
aﬁmg%aww&ﬁaﬁﬁw%mmaﬁmﬁmwmgmg&mmiwnﬁmﬁﬁaﬁuﬁwm
H»T%‘raﬂtgﬁuq&maﬁmaﬂﬁqﬁawﬁaﬁwﬁﬁﬁm:@ﬁﬁ@%mawgwaﬁ@w%uﬁ
Ferareslien &

I FAAT o Fpel &, ) o feremedl H @ W X TE
(A) 2 Bae 1 ud [ g8 &)

(B) 3 @ [ ug 11 e ¥

(C) @ [EE ¥ g ®e [ 7Tea 1
(D) HFI7Ed § g ®2A M EE 2

(B) Srara ued

Given below are two statements :
Statement I :

'Dhamma’ is the Prakrit form of the Sanskritayord 'Dharma’, meaning according to the context, the universal
law or nighteousness or, by Social Extens;on id Religious order as found in Hindu society.

Statement 11 : -

The term Dhamma’ was propog te b
propogating it. :
In the light of the above statenients, chppose the correct answer from the options given below:
(A) Both statements I and 11 &re____tru_e

(B) Both statements I and T are false.

(C) Statement I is corgéct Bat Statement II is incorrect.

(D) Statement Iis 1nc0rrec “ Statement I is correct.

(E) Question not giter

As oka for Buddhism when he adopted the same and started

mﬁaamaammﬁﬁ%rﬁﬁﬁmﬁ%aﬁwmwa&ﬁﬂq
(A).,, AR BT LT 1w ¥

/(B) gl %o 1 T 1L 7T %1

HO) e 1HE ¥ T e [TW@ ¥

(D) w¥A 7o & 6=y wuA 18 %)

(E) ogai@ uss
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Given below are two statements :
Statement I :

;;;;;;;;;;

involved the granting of endorsement to rellglous causes and offices to the ulemas, bul dmg of mﬁﬁsque etc.
Statement 11 : 5

The Ulema were concerned only about the religious aspect and had no voice in polltical mal::ers

In the light of the above statements, choose the correct answer from the optlons glven bél(m

(A) Both statements I and II are true. i

(B) Both statements I and II are false.

(C) Statement I is true but Statement II is false.
(D) Statement I is false but Statement II is true.
(E) Question not attempted

TRAFH AW

HAL:

e gRew sresr & e ﬁwﬁaﬁwaﬁlgﬁﬁmﬁiﬁ#&n@@m@rmmaﬁﬁ
zﬁrwmaﬂﬁaﬁmmélwﬁ i Tevit wd Sl B

ordy W et oty
FEAIL: _
I hael GTRH® e ¥ TEY TEd o ST Ui Tl o ameTel 3 o

SUgFa HAl & el o A B forehedl F @ w6 S A H

(A) 2 Bae 1 ud [ g8 &) {B) - T ®u 1 wd I1 T # |

(C) A IaE T g o [T ) : (D) % 1 Tad § g o 11631 %)

(E) ogai@ uss

Given below are two statements:
Statement I :

Rowlatt Act came into being during the Ni
against the Indians participating in t
Statement ll

"-C___eoperation movement. This was designed to take action

(A) Both statements Iand 1 arg correct,
(B) Both statements [-and Jfare'false.
(C) Statement I is cgrrect | {;Statement II is false.
(D) Statement I is:false but Statement II is true.
(E) Question not ag;temptg:d

'rﬁ%ra"rasaﬂﬁfmﬁ%
FAL:

sm?l%wﬁa%lem

FMAIL: f
e ot 3 ST 35 P TR W R A e St A o s wd e ¥
@I T4 2t o 3w 1 AT o g8 A ondi’, W Selier, ‘T I’ % ® W WA JUiA R

w3 warer A, 4 R Rroedt A 4 w1 9 B wa B

éj'(Al)%‘q’IﬁamﬁlQ?lIIHﬁ%l (B) Tt e 1w I et ¥
HG) AR L Ee & Ty o [T &) (D) %o 17 ¥ g Fom &%)
(E) Jrgafaus
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :

and orthodox.
Reason R:
number of scholars took to Indology and one of them was Maxmuller.
In the light of the above statements choose the correct answer from the optlons given befgmw
(A) Both A and R are correct and R is the correct explanation of A L

(B) Both A and R are correct and R is not the correct explanation of A.
(C) A s correct but R 1s not correct,
(D) A is not correct but R is correct.
(E) Question not attempted

TR EE A wwmﬁazﬁuﬂA%mﬁaﬁ'{mmR%mﬁ%l
AHFITA %
W%WWEWWWM|WQW wﬂ@?w%mﬁaﬁiﬁml
R : £ ™
19'cﬁ91?na°rﬁsmwﬁWﬁ&ﬂ&ﬁﬁﬂﬁ@ﬁ@ﬂﬂ&%ﬁﬁ%@%?@@ﬁﬁﬁﬁ%ﬂmﬁm
! foran o o7 U dameee o

UG FHYA $ YHA A, ﬁ%%&%ﬂﬁcﬁ@raﬁwmw
(A) ATERIA &= ¥ wd R, A & TE @ ¥
(B) ATE R T ¥ Y R, A %l F& e T
(C) A9 % fFg RS
(D) ATd ¥ RFJREA ¥

(E) ogai@ uss

Given below are two statements: one is labglled as Agsertion A and the other is labelled as Reason R,
Assertion A :
Indian National Congress was started by
Lord Dufferin, the viceroy,
Reason R :

The Indian National Congress w.

Hume under the official direction, guidance and advice of

to provide a mild, safe, peaceful and constitutional outlet or safety value

In the light of the above statenients, chose the correct answer from the options given below:

(A) BothAand R are trug: .and*R.is-fhe correct explanation of A.
(B) t B is NOT the correct explanation of A.
(C) correct

(D) A is not correct. but R i
(E) Question not attemptad

'rﬁ%ra"raseﬁrﬁft% ﬁﬂqaﬁfrcﬁa'—mﬁsmfr AT IR F T H T
aﬁmsqu

r
Fa

;;;;;;

ﬂ% i EE N 33 oreia % v s, e, sifaqel vd st sifeafe a1 g g
WA AT o1 7
wﬁéﬁﬁﬁ:ﬁﬂ‘j%mﬂﬁ A & fasedl o 9@ ST & G IR0

Sy, AT R I O ¥ T R, A B T A B
' (B) ATERIMA ¥ ¥ YR, A &Y T e T ¥
W) AT g R e ¥

(D) AT & B R¥ 2
(E) Srafra usd
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Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A

f;wals.h

;;;;;;;;;;

natural heir.
Reason R :
The Doctrine of Lapse was one part of Dalhousie's programme of bringing a unlfled }ndra under strict
control by doing away with alternative sovereignties held by Indian rulers and pringes. {74

In the llght of the above statements, choose the most appropriate answer front, the optlons given below:
(A) Both A and R are correct and R is the correct explanation of A 2

(B) Both A and R are correct and R is NOT correct explanation of A,

(C) A s correct but R is not correct. (!
(D) A is not correct but R is correct.
(E) Question not attempted

BICEE T R EC HWW%A%WﬁGﬂTWWR%W;ﬁ
AHFITA
ST SAerell 3 “Io & T ﬁﬂﬁ%wﬁm%a&maﬁaﬂ%ﬁmmuﬁmﬁaﬁwlﬁﬁﬂ
Wmaﬁmwmaﬁwaﬁaﬁﬁmﬁaﬁ?ﬁmﬁmﬁ%ﬁmﬁﬁ%l

mﬁzﬁzﬁuﬁ%mﬂﬁ,ﬁﬁﬁﬁﬁmﬁaﬁ@w
(A) A@Ré\ﬁw%qﬁR Aa?ra@ra:rm%i

(B)
(€) AW%%@RW%I
(D) AT & g RTT 2

(B) Srarausd

Given below are two statements :
Assertion A : Daswant palnter_
Reason R : The manusenpt of Daswant s work Khandan—e—Tannurla is preserved in Khuda bakhsh
In the light of the above gtat ents choose the most appropriate answer from the options given below -
(A) EeCt a_Hd Ri is the correct explanatlon of A.

(B)
(C) A s correct bnt R is not correct.
(D) Aisnot correét but R1s correct.
(E) Questlon, ;not attempted

;;;;;

;;;;;;

ATHET A o ma;%wwaﬂﬂmmmw%mml
TR 2, & TG B PA AT B TG GIATEN IS Ufees Agsdl, T2 o W
i@-‘

AGﬂTREﬂTﬁHE’I%GﬂTR A P 9 e 18 B
Aw%ﬁﬁmr&m%l
A arae ¥ AT R T ¥

AT Ue
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Given below are two statements : One 15 labelled as Assertion A and the other 1s labelled as Reason R :

Assertion A : The decline of the Maurya Empire started after Ashoka.
Reason R : Ashoka followed the policy of Dhammavyay and disbanded his armyy

In the light of the above statements, choose the most appropriate answer from the options glverf below :

(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R 13 NOT correct explanation of A
(C)  As correct but R 1s not correct.

(D) A is not correct but R is correct,

(E) Question not attempted

-’-s ;;;;;;;;

AHEITA ¢ ﬁﬁwmmasﬂm%ww@rﬂml ********
TR asﬂm%mﬁma&ﬁﬁrwwﬁmmmﬁﬁﬁfﬁrﬁﬂw&
SO Hel b e ¥ e fow T et ¥ wad Svr mwwaﬁ

(A) AT RIA 9T % ot R, A % 98 = 3

(B) AT RIA T ¥ T R, A # 98 =arem 7@ ¥
(C) A9E ¥ Al R o™ ¥
(D) A o9 & Al R T )

(B) Srara ued

87  Which one of the following throws light on the Lakulisha P shupat Sect?
1. Coin of Huvishka Mathura inscription of Chandragupta I1
3. Maltimadhay of Bhavabhuti .~ Ashtadhvayi of Panini
5. Kadambani of Vanbhatta '
Choose the correct answer from the options gw
(A 1,3, 4 (B) 2,34
(E) Questlon not attempted
(A) 1,34
(E) aaa?rﬁﬁqsﬂ
88  Which of the following i far
1. Matridevi Pampade_
2.
3. The patron defy of the V’ljay anagara Kingdom was Vlrupaksha
4, Normally, the’name oft Srivirupaksha was mentioned in the Kannada seript in the royal orders.
5. Vlrupaksha wad'a.fotim of Vishnu.
Choose the co;fmct answer from the options given below ;
(A) 1,23 “ 4 (B)  2,3,5 (C) 1,34 (D) 2,34
(E) Quesfi’ﬁ'n not attempted
forstarTy Ay P e % A N Frefoiaa & & @ @y T 3
1. mﬁqyﬁﬁﬁﬁma%ﬁﬂﬁ%ﬁmwaﬁﬁl
2. RO % S e ST A AR FE 6 e A A
3. 7 RIS ST % Tar daan frema 91
A, TR T el ¥ wers Rl & iferewia % A1 1 sww g e
5. Trema fy @ T A
'fﬁﬁ%@ﬂqﬁmﬁﬁaﬁwwwaﬁ
(A) 1,2,3 (B) 2,35 (C) 1,34 (D) 2.3,4
(E) aij,?rﬁﬁ LES
1421 0 41
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Given below are two statements ;
Statement [

;;;;;;;

;;;;;;;;;;

;;;;;;

Statement II

Ganesh Shankar Vidyarti used to bring out a magazine named “Pratap’ from Reyasthan in! ,1915
In the light of the above statements, choose the most appropriate answer from the dptlons given below :
(A) Both Statements I and II are correct. /

(B) Both Statements I and II are incorrect.

(C) Statement I is correct and but Statement II is incorrect.
(D) Statement I 15 incorrect but Statement I 15 correct.

(E) Question not attempted

Y A FE R E .
EXL N B P 1

g st fermmel A wara’ A fer o fo ¢ FrerTem wamw A smrAE™ #Rﬁa?rz&\w o= Tl i 2o B
QX 3 H ST g B | Al sma s ¥ A S anfien drfiada B awe, aft e give A @9 A
ST A1 e il T, A ST BT Bt AN S A ST T 1 A S F2elt F 2t <t 4o vt e
HTIHT gl BTl
FHIL:

1915 ¥ ot siw el Trorem™ & ‘waw’ AHe it fra

SRR el % Arrh § e &y T ferbe F mqﬂwwwwaﬁﬁﬁ

(A) 2T w1 Td 11 5 ¥ - 3 HeA LU I 3T ¥

(C) YT 19 & 37T Hu 11 378 § 1 (B) U I oG9 ¥ o Be 11 9 #)

(B) Srara ued

Given below are two statements :

Statement I

In spite of opposition from Jinnak.in 193739, the Congress did not stop singing ‘Vande Mataram” in the

Legislative Councils. :

Statement I1

Sir Syed Ahmed Khan had#&aid 1

India.’

In the light of the above

(A) Both Statement$ T'and IEare correct.

(B) Both Statements I and Il are incorrect.

(C) Statement [ 1s cac;:g:;ﬁt"but Statement II is incorrect.

(D) Statemenﬂ is incorrect but Statement II 1s correct.
Questlon not afteinpted

=ﬁ%r A zﬁwﬁq o ¥

EXE R IE

1937-391?r ot fertir % g o 3 forar oftwdl & o W @ e @ s

FPIL 4,

“First he fought for Congress, now he will fight against the unity of

T &t i o P R v 3 e 9, orw 7 W Y e g

A % S § T R o R f T SugE o9 B 9a B

%%{A) 3t et 1w 11 5 (B) 2 Ho 11 I orgea ¥ |
(€ a1 T & AfeT w9 11 o/ &) (D) BAT [ 3 & AT BAT [[ T &
(E) Sranra ued
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Given below are two statements :
Statement I  : Kanishka built a Stupa and Vihara at Peshawar.

Statement II  : In the excavations of Stupas and Viharas of Peshawar, idols of Buddhal ancLKﬁtushka are
found and not of Indra and Brahma.

(A) Both Statements I and II are true.

(B) Both Statements I and II are false.

(C) Statement I is true but Statement II 15 false,
(D) Statement I is false but Statement II 1s true,
(E) Question not attempted

TRAHE @
FEAIL ;BT A Y W UF WU S FEE @)
FEI ﬁam%ﬁﬁcrWﬁmﬁgﬁﬁgﬁmﬁﬁﬁﬁmﬁﬁ%aﬁss&ﬁwaﬁl
YT FUA F AAE § A Rw My e § w9 1 T
(A) A B 1 Ud 11 8 2

(B) Y weA 10 1T 18 #1

(C) ®¥ 1T & wifert Hee 11 315 )
(D)  ®u 1 oG & At w119 )

(E) ogai@ uss

Given below are two statements :
Statement I : Kanchi was the famous city:6f South India, center of education and capital of Pallavas.

Statement II  : Kanchi's famou scholar - Mayuravarma, Vatsyayan, Dingnag and HienTsang-were
there. #

In the light of the above staten ts choose the correct answer from the options given below -
(A) Both Statements T and ITare try |
(B) Both Statements I ai
(C) Statement I is trué bzt Stagement IT is false.
(D)  Statement I is; e but Statement II is true.

(E) Question not ag;temptg:d
o 2w ﬁqm e

¥ a‘ﬁ"[zﬁuﬂ@llw%l

(B),, LA 1T 11 o7 ¥

T 19 ¥ At e 11 o ¥
,,5<sa§q;aq]m%ﬁﬁﬁiﬁﬂ?ll'ﬂﬂ%l

AT Ue
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Given below are two statements ;

Statement I  : Aurangzeb had constructed the Kuwait-ul-Islam mosque by demollshlng t],]f: Chintamani
Temple.

Statement IT  : Qutbuddin Aibak got the Kuwait-ul-Islam mosque built in Delhl

;;;;;;;;

(A) Both Statements I and II are true.

(B) Both Statements I and II are false.

(C) Statement I is true but Statement II 13 false,
(D) Statement I is false but Statement I is true.
(E) Question not attempted

e & wem R T ¥ g

FEL : aﬂ?ﬁﬁ%ﬁlﬂmﬁmﬁtaﬁﬁmﬂgﬁﬁ—aﬁ—mﬂqﬁww%mml
FAI Wﬁ?ﬁﬂm%ﬁﬁﬁﬁaﬁﬁ—w—wqﬁﬁﬁﬂ’%_mml

FqiE H ¥ e A A Ry e ¥ wd oaw 1w

(A) AT B 10d 11 6T E)

(B) 3 @A 1 wd 11 3rae ¥

(C) 9 19 & AfET oA 11 o1 )
(D) e 1 T & WAfeeT e 11T &

(E) ogai@ uss

Given below are two statements :

Statement I  : The temples of Vlru
Vijaynagara.

Statement II  : The Vijayanaga
them further=

In the light of the above statelf__:_ nts, cheose the correct answer from the options given below :

(A) Both Statements 1 anr}'-ll ate-trde.

(B) Both Statements L are false.

(C) Statement I 1s trae b tatement II is false.

(D)  Statement I is: false but Statement II is true.
(E)  Question not aﬁaampwd

and Pampadevi were built by choosing a beautiful place like

. rulers:adopted the earlier traditions, innovated them and developed

ﬂ’- q‘ﬁrzﬁuﬂlqallw%l

By, AR 17 11 376 ¥
HO)  FU 1 T & Al B 1 70 ¥

Kz

(B o 1 orgea & AfeT & 11 &)

(E) Srafra usd

1421 0 44 P.T.O.



95  Match List - I with List - II.
List - 1 List - IT
A, Composition of Basant Vilas in Sanskrit L. Raghunath
B.  Translation of Bhagvatgita into Bangla II.  Udayray of Gujarat
C.  Composition of Tapathisambaranamu III. Maladhar Vasu
Upakhyanamu
D.  Creation of Muhurtamala, a treatise IV.  Gangadhar
on Muhurta
Tl - [0 g - 11 % | e st |
T -1
A,  UGA ¥ 3G e B W 1
B.  yaqiar @ O ¥ SHAR IL.
C.  qulaq=Yq SUEdr g & & 11
D. H&d g5 Ho FEaamer S @ v
Choose the correct answer from the options given below
T R T famedt ® | W SO @ 9w WY
(A) AL B-II, C-1V, D-I 1L B-L, C-1V, D-II
(C) A-1V, B-I, C-I1, D-III 2A-IL B-IV, C-II, D-I
(E) Question not attempted / Gl':!,?lﬁ_cr g7
96  Match List - I with List - IL
List - I (Characteristic) List - 11 (Foreign Traveler)
A, Description of Indian Trade Manucei
B.  Visited Indla six times Bermer
III.  Barbosa
IV.  Tavemnier
T - 11 (fef awh)
A. 1w
B. II. sFET
G i L. s
D. ,_;é‘ﬁ"lﬁ aﬁr{ g @ w A V. fatt
Ch@t‘.fst; ﬂ‘re correct answer from the options given below :
j?f%ﬁ;’qﬁ@”ﬁﬁci‘rfrﬁai‘lmimwﬁ
(A) A 1, B-1I, C-1V, D-III (B) A-II, B-I, C-1V, D-l1
(C’} A- 1V, B-1, C-I1, D-III (D) AL B-IV, C-1, D-l1
(E)  Question not attempted / STIANT U
1421 0 45

P.T.O.
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Statement I :

;;;;;;;

Statement 11 : 9

He showed that the poverty and economic backwardsness of India were not inherent jn-local condltlons but
were caused by colonial rule which was draining India of its wealth and capital. 'J

In the light of the above statement, choose the most appropriate answer from the optlons ’ glx‘en below :

(A) Both Statements I and II are True. i
(B) Both Statements I and II are False.

(C) Statement I is correct but Statement II is False.
(D) Statement I is incorrect but Statement II is True.
(E) Question not attempted

EECE K

1866 T =TETE TSN ¥ wET o wgﬁm@ﬁqsﬁaﬁwaﬁma‘éﬁﬂﬁrﬁﬂmaﬁ A G2 %
WY ATTED BT A1 | 36 T $ B3 AaT H b TI 60 Gl T Lo

B :
I a9 R wrea a TiE ol o st e % RERER o Sited el o1 | Afvh 98
Sl ST %1 WreoTe e e JTa WE A O sl dre ge |

SO HEAl % w3 § R o fawedt § O wed w0 SaeE 9

(A)  ®U 1 30T 11 3T 921 ¥ ﬁmlaﬁﬂlm%l

(C) F¥A 198 T dipd o 11 Ta | T [ A & AR e 1WA F)

(E) ogai@ uss

Given below are two statements : one is labeﬂe:g:l as As;enion A and the other is labelled as Reason R.
Assertion A : : :

Reason R :
He urged the working class to play. $role-n the anti-imperialist struggle.

In the light of the above statenients, chgose the most appropriate answer from the options given below :
(A) BothAand R are correct and R is the correct explanation of A.

(B) “is NOT the correct explanation of A,
(C) Gt-COTEect.

(D) Trect,

(E)

A

5.**5;,

;;;;;;

......

AGﬂTRﬂH‘fG@I%GﬂTR A % T8 e T8 F6 E)

%{C) Aa@r%ﬁﬁm{m%n

;;;;;

(D" A 7o & HfeT R 8 ¥
(E) oranra usd

1421 0 46 P.T.O.
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Subsidiary alliance was a system devised by Lord Wellesley in 1798. All those who entered mto such an
alliance with the British had to accept certain terms and conditions.
1. The Bntish would be responsible for protecting their ally from external and 1ntemal tlima,ts to their
power.
2. In the termtory of the ally a Brtish armed contingent would be stationed a;ld ally woﬁfd provide
resources for their maintenance.
3. Theally would enter into agreements, with other rulers or engage in w arfar only w,;tl;ﬁhe permission
of the British.
4. Ally may walk away with the alliance anytime at the dlsagreement
Choose the correct answer from the options given below:
(A) 1only (B) land2only %
(C) 1,2 and 3 only (D) 2,3and4 onlv
(E) Question not attempted o
1798 & w1 %ﬁﬂﬁmmaﬁmmwnm%wwﬁ aﬁ%aﬁrﬁ S 20, 5= $9 fram e

ord | T o
1. aﬁamﬁaﬂﬁmaﬁWQﬂaﬁﬁ?ﬁ@aﬁﬁgﬁmm & % fo Samaes B
e & %ﬂﬁ@%ﬁsmmraﬁﬁwmﬁmm%mﬁiwwwmmwml

2
3.
4.

I fow T feeRedt o A 9H ST B 99 B
(A) &aw |
(C) whad 1,203

(E) ogai@ uss

Match List I with List II.
LISTI o
A.  Setting up Supreme Court Calcu
by East India Company
B. Comwalis code enactetl o 1774
C. Railway line between Bomba_ and Thane  [I. 1881
D. Madras Harbour : 3 IV. 1833
Choose the correct answer, the options given below
(A)  A-L, B-L C-IIL:D-IV, @ (B) AL B-I, C-IV, D-I
(C) AL B-L, C-1¥, D-III, (D) A-IL, B-L, C-III, D-IV
(E) Question not a;ttempted

LISTII
L 1793

qA I q\%ﬁ 1l ﬁgﬁ%ﬁ i
TR
I 1793
ﬁ’éﬁﬁ‘ AT a?r WO
B /et diean sttt . 1774
£ H;aaé@ro'rt?ré‘seﬂfriﬁﬁaﬁ-rr 1. 1881
maﬁ IV. 1853
%) ,.A I, B-IL, C-III, D-IV (B) A-IIL B-II, C-IV, D-I
(C)" A-IL B-L, C-1V, D-III (D) A-IL B-L C-llI, DIV
(E) ogaia@ uss
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SPACE FOR ROUGH WORK / &= ™ ¥ fau Fe

43

1421 0



